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Week 1: The cost accounting concept, objectives, applications, relationship with financial accounting
and management accounting.

What is Cost Accounting
3K Lilaay 3 gaiall L
There are several definitions of cost accounting, we can know them :
Cost accounting is the process of collecting and interpreting
information to determine how an organization earns and uses funds.
Or cost accounting is a process of assigning costs to cost objects that
typically include a company's products, services, and any other
activities that involve the company.
Or cost accounting is a process of collecting , analyzing,
summarizing and evaluating various alternative courses of action. Its
goal is to advise the management on the most appropriate course of
action based on the cost efficiency and capability.
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Objectives of cost accounting:
There are multiple objectives to using cost accounting
1- provide vastly more actionable information than the financial
statements produced through financial accounting.
2- Determine where a company is spending its money, how much it
earns, and where money is being lost.
3- Determine the cost of the product and thus determine the selling
price.
4- Cost reduction and ascertaining the profit of each activity.
5- Provide detailed cost information that management needs to
control current operations, make decisions and plan for the future.
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the relationship between financial and management accounting
to cost accounting

1. Meaning-

a. Cost Accounting is the process of accounting for costs,

from the very starting till the end of the reporting period. Reports are
prepared at the end of the period in order to ascertain where the cost
can be reduced or controlled.

b. Management Accounting refers to the application of the
accounting principles and financial management to create, protect,
preserve and increase the value of an organization for its
stakeholders.

c. Financial Accounting is the art of recording, classifying, and
summarizing the monetary transactions and events in a manner
useful for the stakeholders to interpret the results thereof.

2. Objective-

a. Cost Accounting basically records the cost of producing a product
or providing a service in which the business primarily deals.

b. Management Accounting is performed in order to help the
management make decisions by providing the relevant information.
c. Financial Accounting is undertaken to prepare Profit and Loss
Account and Balance Sheet for presentation to shareholders and
other external users.

3. Recording of Data —

a. In Cost Accounting, data is recorded using both, past and present
figures.

b. Management Accounting focuses on the projection of data for the
future.

c. Financial Accounting records Historical data.

4. Rules and Regulations —

a. Cost Accounting follows certain principles and procedures for
recording costs.

b. Management Accounting does not follow any specific rules and
regulations.

c. Financial Accounting follows Accounting Principles, Accounting
Standards and Financial Accounting Standards.
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the difference between cost, expense and 10ss

In accounting, though all three words that is cost, expense and loss
represents outflow of funds from the company to outside world,
however there is a difference in the manner in which the outflow of
funds or cash happens.

Cost is a resources given up in exchange for some goods and
services, includes both expired and deferred cost, Expired cost is the
cost that has been already incurred, while deferred cost is one which
has been incurred but its economic benefit is not received, such as
prepaid expense or expenditure on research and development are
some of the examples of deferred cost.




An expense includes only expired cost which is used up in earning
revenues in a company’s main operations. In other words it is a cost
with a matching economic benefit during a particular period, such
advertising and rent etc....

While A loss is defined as "an amount of money lost by a company."
This can be in the form of revenue, assets, or even customers, Hence
loss is outflow of funds without any matching economic benefit.
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Week 2: Cost classification, natural, functional, in base of relationship with unit produced, inbase of
relationship with production wolume.

Classification of Cost

Costs can be classified based on the following:-

1. Classification according to Nature ( materials, Labor, overhead).

2. Classification according to Functions (Production cost, Selling and
distribution cost, Administration costs).

3. Classification according to traceability of product. (direct and indirect).
4. Classification according to change in volume of activity. (Fixed, Variable
and Simi variable).
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1- Classification according to Nature: Inthis type, costs are divided into
Direct materials, Direct labor and overheads.
Direct materials are the raw materials that directly enter into the production
of the product unit and can be traced and allocated to the product unit such
as cotton, leather, wood, aluminum, iron, etc.
Direct labor cost The direct labor costis the cost of workers who can be easily
identified with the unit of production. An example of the direct labor cost the
wages of production line workers and the assembly workers on an assembly
line and Selling agents commission
Overheads: Itincludes indirect materials, indirect wages, and other expenses
which can be divided into, consumables, packing materials, and spare parts
etc.. this is for the material. As for the indirect labor cost, it includes salaries,
supervisors' wages, and maintenance workers' wages etc. As for other
expenses, they include depreciation, rent, insurance, transportation, loading,
water and electricity expenses etc.
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https://en.wikipedia.org/wiki/Assembly_line
https://en.wikipedia.org/wiki/Assembly_line
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2. Classification according to Functions: Classification by function involves
classifying costs as production/manufacturing costs, administration costs or
marketing/selling and distribution costs.
In a ‘traditional’ costing system for a manufacturing organization, costs are
classified as follows:
Production or manufacturing costs. Theseare costs associated with the
factory.
Administration costs. Theseare costs associated with general office
departments.
Marketing, or selling and distribution costs. These are costs associated with
sales, marketing, and warehousing and transport departments.
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3. Classification according to traceability of product: Direct costs and

indirect costs,

A direct costis a costthat can be traced in full to the product, service, or
department that is being costed.

An indirect cost(or overhead) is a costthat is incurred in the course of making
a product, providing a service or running a department, but which cannot be
traced directly and in full to the product, service or department.

Materials, labor costs and other expenses can be classified as either direct costs
or indirect costs

Direct material costs are the costs of materials that are known to have

been used in making and selling a product (or even providing a service).
Direct labor costs are the specific costs of the workforce used to make a
productor provide a service. Direct labor costs are established by measuring
the time taken for a job, or the time taken in ‘direct production work’




Other direct expenses are those expenses that have been incurred in full as a
direct consequence of making a product, or providing a service, or running a
department.
Examples of indirect costs include supervisors’ wages, cleaning materials and
buildings insurance
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4. Classification according to change in volume of activity: Classification by
behaviour, this refers to the classification of costaccording to how the costs
react/vary with output levels. It means, based on the activity level or the
outputs produced, costs can be classified as fixed or variable.

Fixed cost - It mainly relates to time or period. It remains unchanged
irrespective of volume of production like factory rent, insurance, etc
Variable cost- Variable costdirectly associates with unit. It increases or
decreases according to the volume of production. Direct material and direct
labor are the most common examples of variable cost. It means the variable
cost per unit remains constant irrespective of production of units
Semi-variable cost - Many items of expenditure are part-fixed and part-
variable and hence are termed semi-fixed or semi-variable costs.
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Questions

1- deified costaccounting?

2- What is the relationship betweenfinancial and managementaccounting
to costaccounting?

3- What is the difference betweencost, expense and loss?

4- What are the costelements? explain them in detail

5-What are the main classifications of costs?

Exercises
Exercise 1:- Classification of costs by nature and functions.

Wages of factory security guards 350 000
Paper for the office computers 21 000
Commission of salesmen 800 000
Deprecation of machines 15 000
Interest on bank overdraft 10 250
Chief accountants salary 250 000
Advertising expenses 50 000
Leather for bags 16 000 000
Wages of workers 26 000 000
Shipping and transportation of materials 200 000
Electricity bill for heating and lighting the factory 30 000
Lubricant to clean the machines in the factory 15 000

Exercise 2:- Classification of costs by nature , functions, degree of traceability
of the productand by change in activity.

Raw materials 15000 000, Packing material 50 000,
Manufacturing wages 20 000 000, Advertising expenses 180 000,
Deprecation of furniture 12 000, Indirect wages 1250 000,
Commission of salesmen 550 000. Oil 17500,

Wages of production services 4 750 000, Stationary 50 000,

Wages of employs production 10000, Supervisory wages 1 650 000,

Administrative expenses 190 000, Rent of building 600 000,
Salary of manager plant 500 000, Indirect materials 1 3250 000,




Exercise 3 :- Classification of costs by nature , functions, degree of traceability
of the productand by change in activity.

Main material used in production $100 000 000
Other materials used in production 9 000 000
Tools write and print for management 32 000
Direct wages related in production 1 500 000
Wages supervisor on production 4100 000
Commission of salesmen 3000 000
Salaries of management staff 4 000 000
Depreciation of building 10 000
Insurance on factory building 30 000
Rent equipment and machines in factory 160 000
Expense of water and electricity in factory 12 500
Rent of sell exhibition 250 000

Exercise 4 :- Classification of costs by nature , functions, degree of traceability
of the productand by change in activity.

Raw material 81 000 000
Workmen wages of production 219 000 000
Salaries of store keepers 350 000
power related in production 500 000
Transportation and loading of goods 49 000
Bonus of office staff 600 000
Warehousing expenses of goods 200 000
Insurance on Manufacturing employees 100 000
Equipment and machines deprecation 10 000
Maintenance and repair wages 120 000
Workmen wages of assembling parts 20 000 000

Exercise 5 :- Classification of costs by functions and by change in activity.

Direct wages 50 000 000

Spare parts 70 000

Direct material 35 000 000
Rent of plant 1000 000
Management expenses 43 000
Advertising expenses 1 200 000
Salaries of staff 8 000 000
Salary of general manager 1 700 000
Lighting expenses of office 15 000

10




Exercise 6:- Classification of costs by nature and degree of traceability of the

product.

Raw materials 45 000 000
Packing material 90 000
Manufacturing wages 220 000 000
Deprecation of furniture 21 000
Commission of salesmen 650 000
Oil and Lubricant 35000
Wages of Maintenance and repair 750 000
Wages of employs marketing 1000 000
Supervisory Bonus 680 000
Administrative expenses 300 000
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Week 3: Cost centers, cost units , Explain how to link cost units to cost centers

Cost Centers
Cost center is a place to which costs can be traced or segregated. The cost
center can be a department, a division, a responsible person, a production
line or a project. Managers of cost centers are responsible for keeping their
costs in line or below budget.
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Cost centers can be divided into:- 4 «alSl) 38) ja andi o (Sang
® production centers. zWY Sl

® production services centers. ¥l Cleaas S

® marketing services centers. (& sl Gl S

® administration services centers. 4 _)2Y) Glaadl 3S)

® finance process centers. Jasaill lilee S 30

Examples of cost centers: the IT department, quality control department,
the accounting department.
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Costunits:- A costunit is a unit of a productor a service to which costs can be
traced. For example, for a manufacturer of laptop computers, a cost unit would
be a laptop. For a bus company, a costunit could be a bus journey.

The unit of costis determined for:

*Work out the costof providing productor service

*Work out the resources needed, material, labor and other expenses to
make or supply the unit.
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Week 4: Cost elements , materials, materials control, materials purchase document circle, pricing
material, computer materials cost.

Elements of cost
The elements of cost are: 1. Materials 2. Labor, 3. Expenses and
Overheads
1. Materials: “The material cost is the cost of commodities supplied
to an undertaking” Materials cost is of two types:
(a) Direct materials cost, and
(b) Indirect materials cost.
(a) Direct Materials Cost:
Direct material cost is “The cost of materials entering into and
becoming constituent elements of a product or saleable service”.
Thus, materials which can be identified with units of output or
service are known as direct materials.
Cotton used in production of cloth, leather used in the case of
production of leather goods and lime in the production of chalk, etc.,
are the examples of direct materials. Any materials purchased and
used for a specific job are also direct materials.
(b) Indirect Materials Cost:
“Materials used for the product other than the direct materials are
called indirect materials. In other words, materials cost which cannot
be identified with a specific product, job, process is known as
indirect material cost.
Small tools, stationery used in works, office stationery, advertising
posters, and materials used in maintenance of plant and machinery

are a few examples of indirect materials.
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2. Labor:

Labor is the remuneration paid for physical or mental effort

expended in production and distribution.

“The labor cost is the cost of remuneration (wages, salaries,

commissions, bonus, etc.) of the employees of an undertaking”

Labor cost is also divided into direct and indirect portions:

(a) Direct Labor Cost:

It is also called ‘Direct-wages’. Direct labor cost is the cost of labor

directly engaged in production operations. E.g., workmen engaged in

assembling parts, carpenters engaged in furniture making, etc.

(b) Indirect Labor Cost:

indirect labor cost is the remuneration paid for labor engaged to help

the production operations, e.g., inspectors, watchmen, sweepers,

store keepers, etc. The remuneration paid to these persons cannot be

traced to a job, process or production order. The labour costs of idle

time, overtime, holidays, etc., are also taken as indirect costs.

Similarly, clerical and managerial staff, salesmen, distribution

employees are also included in the orbit of ‘indirect labour’.
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3.Expenses:

Expenditure other than material and labor is the third element of cost.
It is defined as- “The cost of service provided to an undertaking and
the notional cost of the use of owned assets”.

Expenses are of two types:

(a) Direct expenses, and

(b) Indirect expenses.

(a) Direct Expenses:

These are the expenses which can be directly identified with a unit of
output, job, process or operation. They are specifically incurred for a
job, or unit or process and in no way they are connected with other
jobs or processes. The direct expenses are also known as chargeable
expenses.

examples are Cost of special patterns, designs or plans for a
particular job or work order, etc.

(b) Indirect Expenses:

Indirect expenses are expenses other than indirect material and
indirect labor, which cannot be directly identified with units of
output, job, process or operation. These expenses are incurred
commonly for jobs and processes. E.g., rent, power, lighting,
depreciation, bank charges, advertising, etc.
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material control
3 gal) 48) e
material:is the cost of incoming goods for the industrial organization and it
forms an essential part of the final product and includes the materials used in
manufacturing, assembly and recycling, An important part of the process is
production, so the process does not take place if the materials are not available
in the quantity, quality and appropriate time. It can be divided into three groups
when they are received by the organization.

e Raw materials such as cottonin the manufacture of clothing.
e Semi-finished materials, for example, unpainted furniture.
e Finished materials :spare parts.
3 gl S 5 gl omiiall (e Vinlasl 12 S5 p 3o Uiaall Asns all 53 ) 511 bl 2615 o 550l
&A&j‘# RSN cC\_u\)!\ 9 gdalenl) (pe pgas > 2 sl EJLG;‘}C:\A.&S“}M\‘;:\AM\
Ll il ) gl sl (Siay 5 . cliall € gl 9 5 gad) 5 A0Sl 548 gia ye ol gall CilS 1Y) Dpalis)
le gana M ) Aakaiall
ol delia b il i aladl o sall
bl e Y Jia ¢ dniaall 40 3 sl
e adad ALK o gl

MATERIAL CONTROL SYSTEM 2 sl 4:8) s allas
Material form an important part of the costof productand therefore, proper
control over materials is necessary, an efficient system of materials control will
lead to a significant reduction in production cost.
s 3l sall e Rpulial A8 1) fd ¢ Ml 5 ¢ pmiiall 8IS (g0 Laga 12 o 3 sall US55
WY ASS 8 50 alaasl ) ol gl e 20 0 Jladl) pUaill g5

The functions of the material control systemare: 3) gall 4B ya aUSS il g
e Purchasing of materials 2 sl ¢4

® Receiving of materials 3 sl il

Inspection of materials 2 sall (asd

Storage of materials 2 sall (33

Issuing of materials 2 sal o)
Maintenance of stores record o %l Jaw dlaa

Stock audit s 3l 58
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MATERIAL CONTROL SYSTEM 2 gall 481 ya alii Cilaa)
Materials control basically aims at efficient purchasing of materials, their
efficient storing and efficient use or consumption. Materials control consists of
controls at two levels: Quantity controls and Financial controls.
ol galadind 5 3ol Ly 380 5 o) gall Jladl) ) 3l ) sl IS5 ol gl 3 pSaill Cangy
A (2) 5 A0S 8 (1) 10om sinse (sl 151y 3 pal) ) g ) S50 5 6lS, LgSDlgid

Purchase process — s/&l ke

Materials may be purchased based on the size of the concern, nature of
materials to be used, nature of operations and management polices etc.

A large companies have a separate purchase department while all functions are
managed by the owner himself ona small companies.

Slabis s Gllaal) Zanda g Lgaladind Qo Al o) gall danda g dpeal) Ao 2l o gall o) a0 (Sa
e il ) aran 31 Laiy Jacadiie Cly jidie and 3 Sl S Sl elliai g @l ) Lag s ylaY)
B_waall IS HAN 8 anss Akl J8

Documentary cycle of the purchase process sl dlaad dyaiicall 3 ) gl

Bill of Materials. 3 salb 438

Purchase Requisition. ¢/ &l alla
Selection of Suppliers. (2 sall sl
Purchase Orders.s! il a5l

Goods Received Note, aibaall 2diu) jlad)
Inspection of Materials. 3 sall (asd
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Week 5: Material inventory procedures, storage document, storage records, material issued pricing
methods, FIFO,LIFO

Issuing of materials 2 gall (<i_wa) J)sal

It is the quality of every good system of materials control that no materials can
be issued from store except on properly prepared and approved materials
requisitions.

The materials requisition is a written order to the storekeeper to deliver
materials or supplies to the place and the department designated or to given the
materials to the person presenting a properly executed requisition.

Barall 3l sall Cilalla (530 0 sl (e 3l g sl lacal (S W sty Jladl) o) gall 481 ye QUi ey
.@Mdﬁg}sm‘}

S Cpaall ) 5 Gl A Slalagy) B 3 sall aliiil o 34l Y o5l sa sl lha
@Md&abm(ﬂ&eﬁgtﬁi\u&\ ‘;J J\}A\ ;LEQ‘\

Pricing of materials Issues 3_ilall 3l gall s

After determining the quantity of material issued to each job for production
purposes during a particular period, it is necessary to calculate its value for
cost accounting purposes, since almost every material is purchased at
different times at different rates and is mixed together, it is very difficult to
ascertain the actual value of the material issued for production purposes,
Therefore, we must find ways to price these materials.
3l (o ¢ Aigmats s JSA ZUBYI il e Y Al y IS5 palall 3 sall A€ 003 2ny
Aalide ol gl Gy 55 Bale JS o]y 45Y 1 500 ¢ (oISl dlaa il 2 Y Lgiasd il
3_aball 3 sall daladl) dagal) (pe SSUD o Coall e ¢ e Lgdalas oy g dabiae Y ara
gl o3 el B ko o Gang ¢ Gl F LY Gl 2 Y

Methods Of Pricing Materials Issues 3 jiaal) 3 gall s 4k

There are various methods in use of pricing issues of materials from store. The
selection of suitable method is significant from the viewpoint of cost absorbed
and consequently on profit. Therefore, the method should be selected in the
light of probable effects on profit over a period of years.

Material is purchased specially for a job. The material issued is charged to the
job at its landed cost. Landed cost include the invoice price, freight, cartage
and insurance charges on materials. Issue of such items cannot be linked with a
particular 'lot' and therefore, exact landed cost of the particular unit issued
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cannot be identified. If the purchase price for each lot is different from that of
the others, the question arises as to which purchase should be taken into
consideration for pricing material issues.

)l Al 48y plall s dey 50 Al (e ol sall e Llal aladiinl b dalida 5k ellia
¢ s 8 AR Hhall A Cany ¢ @l g ) e il g Adlea ) ARISH i dga 5 (e g
) gl (e 858 (530 e gl e dlaiadl ol sl
A Jodi g L] gamn g 4alST; ) e 5 ol o sall Jpani oy Jall lapiad o) sall 61 5
aliall o2 Jin Jlaalday 5 (Say V3 sall (e Gaalil) g ) 5 J8l) 5 Gl @ gas 5 55 s s
S e) 53l e S 1Y) 3 jalia Aiima Bas ol dydal) AalKHH pyast Sy Y ¢ JUIL 5 ¢ Alma "Aada"
eV 355 o a3 o)l J g dndi =l 3 1 sadl 8 ¢ HAY) e (alia daby
ol o sdl jaaal daally

Some important and mostly used methods of pricing are as follows.

1. First In First Out(FIFO) Method..... ¥l <im0 2 50 La 43y )k
2. Last In First Out(LIFO) Method ...¥ sl <y | AT 2 5 La 45, )b
3. Weight Average Method(WAM)....cs)sall Jaeall 45, 5l

1 -First in First out Method (FIFO)Y s < yeas ¥ 4f 5 Lo ddy )l

Under this method materials are used in the order in which they are
received. In other words, materials received first are issued first. This process
IS repeated throughout.

The price of the earliest consignment is taken first and when that is exhausted,
the price of the next consignment is adopted and so on. This method is most
suitable for use where the material is slow moving and has comparatively high
unit cost This method is also useful in times of falling prices because the issue
price of material to the job will be high while the replacement cost of material
will be below.

sl placal iy ¢ AT e 4s Lealiad oy (3 i il o) sl aladiind iy A5y plall s38 o ga
gl ) sl dlaall o3 S5 Y f daliaal)

S I L g AN Aia 5D jms dlaie ) iy ¢ 1D slaiind S5 Ladie 3 ol o) Aiacsl) e 3aT
o3 Vo Aylle 3aa 5 A4S gl 5 38 ) Aiyday Balall () oS5 Ladie aladin M i) o 44y Hhall o2
Ly G yo () Sama il 1) 3 pall sl yms o nas§) (il B f b Ll 5k 26y 5L
(83 ) i 465 () oS5

Example:- Show the Stores Ledger entries for the month of Jan, 2018 as they
would appear when using FIFO method:
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-Jan. 1 was the balance of materials 500 units @ $ 3.

-Jan.2 Purchased 300 units @ $.3 per unit and paid the transportation expense $ 300

-Jan.3 Purchased 600 units @$4 per unit and paid commission and taxes $ 600
-Jan.6 Issued 600 units.

-Jan. 10 Purchased 700 units @ $4 per unit and paid the transportation expense $
350 .

-Jan. 15 Issued 850 units.

-Jan.20 Purchased 300 units @ $ 5 per unit and paid commission and transportation
$ 300.

-Jan.23 Issued 100 units.
-Jan. 25 return 50 units the materials issued Jan. 15 .
Required ; 1- prepare item card

2- journalize the transactions .

Solution example -
1-Bin card (FIFO)

Date Received (purchasing ) Issued Balance
Quantity | price | amount | Quantity | price amount | Quantity | Price amount
Jan. 1 500 3 1500
Jan. 2 300 4 1200 800 500 * 3 | 2700
300 * 4
Jan.3 600 5 3000 1400 500 * 3 | 5700
300 * 4
600 * 5
Jan. 6 600 500*3 | 1900 800 200 * 4 | 3800
100*4 600 * 5
Jan.10 700 4.5 3150 1500 200 * 4 | 6950
600 * 5
700*4.5
Jan.15 850 200*4 | 4025 650 4.5 2925
600*5
50*4.5
Jan.20 300 6 1800 950 650%4.5 | 4725
300*6
Jan.23 100 4.5 450 850 550*4.5 | 4275
300*6
Jan.25 (50) 50*4.5 | (225) 900 600*4.5 | 4500
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300*6

1900 | 9150 1500 6150 900

4500

2- journalize the transactions

Journal Entry for an Inventory Purchase(Purchase Entry)
-Jan.2
Raw materials control 1200
Accounts payable 1200

Journal Entry for an Inventory Purchase(Purchase Entry)
-Jan.3
Raw materials control 3000
Accounts payable 3000

Move Raw Materials to Work in Process(lssue Entry )
-Jan.6

Work-in-process control 1900

- Raw materials control 1900

Journal Entry for an Inventory Purchase(Purchase Entry)
-Jan.10
Raw materials control 3150
Accounts payable 3150

Move Raw Materials to Work in Process(lssue Entry )
-Jan.15

Work-in-process control 4025

- Raw materials control 4025

Journal Entry for an Inventory Purchase(Purchase Entry)
-Jan.20
Raw materials control 1800
Accounts payable 1800

Move Raw Materials to Work in Process(Issue Entry)
-Jan.23

Work-in-process control 450

- Raw materials control 450

Return the materials issued for stores(Return Entry)
-Jan.25
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Raw materials control 225
Work-in- process control 225

Stock Equation
first Balance + (received — return to supplier)=(Issued- return to store) + end balance
3adl DAl ana yb (ol (N laga el - jalall)= (Gadeall () Slagasall — a6l )+ saall J gl s
1500 + 9150 = 4500 + 6150
10650 = 10650

2.Last in First Out Method: (LIFO) Yl < a0 351 5l &3 5l

This method is exactly the opposite of FIFO method. Under this materials
received last are issued first. The price of the material to be issued would the
cost price of the last lot of materials purchased.

This method is useful during to period of rising prices because materials will
be issued from the latest consignment a price which is closely related to the
current price levels. Under this method product' cost is calculated on a basis

which approximates to replacement cost.

a1 A gDl a3 () o) sall (845, Hhall 028 caa ey W FIFO 43 jha (uSe o4 44y Hhall o2
Ll el ol gall (e drdy HATAASE jes s ol atns Al 30 jra ()5S s V5T laa)
Uil dasiy ymes Risd AT (e deaias 3l sall 0 L) g i 51 5 jib JDIA 5360 4y jlall o34
A4S )y b e peiall 480K Gl 3 48 Hlall 038 g Adla) el i gianey 85
Ul

Example:- The followings transactions took place in respect of material in
during the month of January, 2018. Under Stores Ledger using LIFO method.
Jan. 1 was balance the materials 500 units @ $ 6 .

Jan.4 Purchased 550 units @ $.5 per unit and paid the transportation expense $
275 .

Jan.5 Purchased 600 units @ $.6 per unit and paid the taxes $ 300 .

Jan.6 Issued 500 units.

Jan.10 Purchased700 units @ $7 per unit and paid the commission
,transportation expense $350 .

Jan. 15 Issued 800 units.

Jan.20 Purchased 300 units @ $ 5 per unit.

Jan. 22 return 250 units the purchased materials in Jan. 4 .

Jan.23 Issued 700 units.

Jan.25The inventory stocks last period 300 units and found the cause of
deference is 100 unit damage alone .

Required ; 1- prepare item card

22




2- journalize the transactions .
Solution example LIFO:-

1-Bin card
date Received (purchasing ) Issued Balance
Quantity | price | amount | Quantity | Price amount | Quantity | Price amount
Jan. 1 500 6 3000
Jan. 4 | 550 55 |3025 1050 500%6 | 6025
550*5.5
Jan. 5 | 600 6.5 | 3900 1650 500%6 | 9925
550*5.5
600*6.5
Jan. 6 500 6.5 3250 1150 500%6 | 6675
550*5.5
100*6.5
Jan.10 | 700 75 | 5250 1850 500*6 | 11925
550*5.5
100%6.5
700*7.5
Jan.15 800 100*6.5 | 5900 1050 500%6 | 6025
700%7.5 550*5.5
Jan.20 | 300 5 1500 1350 500*6 | 7525
550*5.5
300*5
Jan.22 | (250) 55 | (1375) 1100 500*6 | 6150
300*5.5
300*5
Jan.23 700 300%5 | 3750 400 400*6 | 2400
300%5.5
100*6
Jan.25 | Unit damage 100 6 600 300 1800
total 1900 | 12300 | 2100 13500 | 300 1800
2- journalize the transactions
Journal Entry for an Inventory Purchase(Purchase Entry)
-Jan.4
Raw materials control 3025
Accounts payable 3025
Journal Entry for an Inventory Purchase(Purchase Entry)
-Jan.5
Raw materials control 3900
Accounts payable 3900
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Move Raw Materials to Work in Process(lssue Entry )
-Jan.6

Work-in-process control 3250

- Raw materials control 3250

Journal Entry for an Inventory Purchase(Purchase Entry)
-Jan.10
Raw materials control 5250
Accounts payable 5250

Move Raw Materials to Work in Process(lssue Entry )
-Jan.15

Work-in-process control 5900

- Raw materials control 5900

Journal Entry for an Inventory Purchase(Purchase Entry)
-Jan.20
Raw materials control 1500
Accounts payable 1500

Move Raw Materials to Work in Process(Issue Entry)
-Jan.22

Accounts payable 1375

- Raw materials control 1375

Move Raw Materials to Work in Process(lssue Entry )
-Jan.23

Work-in-process control 3750

- Raw materials control 3750

Journal entry to write off damaged inventory
-Jan.25
Loss on inventory write-off 600
Raw materials control 600

Stock Equation

first Balance + (received — return to supplier)=(Issued- return to store) + end balance
3000 + 12300 =13500 + 1800

15300 = 15300
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Week 6: Awerage method, ending inventory , inventory restriction, accounting treatment for normal and
abnormal spoilage

Weight Average Method g9 sl Jasall 48, )b

Under this method, materials issued are valued ~si at average price. This is
calculated by dividing the total of the price of the materials on the stock from
which the material to be priced could be drawn by the number of prices used in
that total. A new simple average price is to be determined when a fresh receipt
Is made. The rate is also revised when an earlier consignment is exhausted.

Ju‘guaﬂ\wﬂdumeu}mﬂ@jﬁmﬁjdhaﬂ J\jd\&:\meﬁg 44\3...1)):;]\ AT A gt
D e e W e ol el ol gall aDlaciul AR (e Sy 53 (5 Al (8 3 sall
dxal jo oy poa Jlay) Hlaa) die s b e das e paaial a1 8 deosiil)
Al ad A8 vie Wayl e
Example:. The following transactions took place in respect of material in
during the month of February , 2009. You are required to write up the Stores
Ledger underweight average:
Feb.1/ was balance the materials 500 units @ $ 5.
Feb .4/ 100 units purchased @ $ 4.00 per unit .
Feb. 5/ issued 500 units
Feb .8/ 200 units purchased @ $ 5.00per unit
Feb .10/ 300 units purchased @ $ 6.00 per unit
Feb .12/ issued 250 units.
Feb. 28/ The inventory last period 300 units and found the cause of deference
is 50 unit damage alone note that the percentage of damage are allowed10%of
inventory .
Required ; 1- prepare item card
2- journalize the transactions
Solution example (WA):-

1-Bin card
date Received (purchasing) Issued balance
Quantity | price | amount | Quantity | price | amount | Quantity | price | amount
Feb.1 500 5 2500
Feb.4 | 100 4 400 600 4.83 | 2900
Feb.5 500 4.83 | 2417 100 4.83 | 483
Feb.8 | 200 5 1000 300 4.94 | 1483
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Feb.10 | 300 6 1800 600 5.47 | 3283
Feb.12 250 5.47 | 1367.5 | 350 5.47 | 19155
Feb.28 | Unit damage 50 5.47 | 273.5 300 1642
Total | 600 3200 800 4058 300 1642

2- journalize the transactions
Journal Entry for an Inventory Purchase(Purchase Entry)
-Jan.4
Raw materials control
Accounts payable

400
400

Move Raw Materials to Work in Process(lssue Entry )
-Jan.5

Work-in-process control

- Raw materials control

2417
3250

Journal Entry for an Inventory Purchase(Purchase Entry)
-Jan.8
Raw materials control
Accounts payable

1000
1000

Journal Entry for an Inventory Purchase(Purchase Entry)
-Jan.10
Raw materials control
Accounts payable

1800
1800

Move Raw Materials to Work in Process(lssue Entry )
-Jan.12

Work-in-process control

- Raw materials control

1367.5
1367.5

Journal entry to write off damaged inventory
-Jan.28
Loss on inventory write-off
Raw materials control
Stock Equation

first Balance + (received — return to supplier)=(Issued- return to store) + end balance
2500 + 3200 =4058 + 1642

5700 = 5700

273.5
273.5
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Week 7: Lewel of storage level, maximum lewel, minimum lewel, economic order au

EOQ (Economic Order Quantity) 4ssbaidy) cullal) 41as
Concept And Meaning Of Economic Order Quantity (EOQ)
Economic order quantity is also known as reorder quantity. Economic order
quantity (EOQ) is a level of inventory where the total cost of holding inventory
IS at minimum. Economic order quantity is the level of quantity at which the
cost of ordering will be equal with the storage cost of materials. In other words,
the quantity of materials which is economical to be ordered at one time is known
as economic order quantity. The total costs of materials consists of the ordering
cost and carrying cost. While determining the economic order quantity, the
ordering cost and carrying cost should be considered.
(EOQ) lhall 4,0liaid¥) &Sl Jiza g o 5¢de
allall 2ol a8y Al allall sale ) Ay Lyl allall 43l aBY) 40l (o 25 (EOQ) 5 siane 2
o allall Lol a®Y) 4l o) sl die (5 Al Laliia DU Allea ) 28K (4 &5 a5 33l
3 pall AsaS a5 AT B jlams 3 pall (3 )33 A 4 glane llal) 2SS g 585 ) Al (5 sann
Al Y1 RSl (55 allall A1 Al an 5 5 b Lgalla (53aBY) (30 0553 S
allal) A8SE Ble ) e camy ccallall Aualatdy) el auaad oL Jaal) 4815 g allal) 2815 e o gall
LJail) Aalss

Ordering Cost Lutll cils
The ordering costis the repurchase costand is repeated in nature. Purchasing of
large quantities of materials helps reduce the ordering cost. The following costs
are included in the ordering cost:
* Costof staff appointed in the purchasing, inspection and payment
departments.
* Costof stationary purchases, telephone charge, email charge, fax charge etc.
Ordering costs also includes the cost of floating tenders, the cost of making
comparison among quotations, cost of paper work, cost of transpiration etc.
S s e e by 8 S ey o 8l 5 ¢ omands IS ) S5 4 sl sile) S
ol ancats dygllall 4618 5 Al
29 5 Aglaall 5y yidiall Aludl A Grimall (il gal) 4813 *
B oSl a g g ¢ g AV all gy 5 ¢ ALl gy g ¢ AT by il sl *
Jad) 485 5 ¢ ) o g ge A0 el 4SS 5 ¢ Aailall cale Unall 4815 Wayl callal) CallSs (Lo
&)l A5 ¢ B
Carrying CostLweadll s
Carrying costis concerned with the storage of materials. It suggests purchasing
in small quantities. If small quantities of material purchased, the storing cost will
below. The following costs are included in carrying costs.
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* Costof storage ( warehousing, salaries, rent etc.)
* Costof spoilage in stores and handling
* Insurance cost of materials
* Interest on capital blocked on materials or opportunity cost
* Costof maintaining the materials to avoid deterioration
* Costof obsolescence due to a change in the process or product.
¢ 3 sall e b yhaa DS o) 38 113 B e LSy o) S8l iy ol gall (g a0 (3l Jaal) 431
ISl Jaat 8 Al Cad\Sll ety | JAT (o 5a0) 4815 ) oS
() ¢ Slaa¥) ¢ Gl pall ¢ oyl o jaal) Aalss *
Lo il 5 ¢y laall 8 Calil 4alSs
3 gall el AaIS5
Al da il 4815 ) o) gl e Jlal Gl ) e saildll jlas a3 %
Calill A o gl Al 445
il o dglaal) 8 s Can a8 A4S
Calculation Of Economic Order Quantity(EOQ)
Aalai®y) Cuthal) duaS Ciludal
The economic order quantity can be determined in the followingways.
S YA el st (S foalaidy) allal) 28
1. Formula Method sl 43, )l
2. Graphical Method ) 43y )k
3. Trial And Error Method Uasll s34, il 43, )k
1. Formula Method
With the help of following formula, the economic order quantity can be calculated.

EOQ = \/ 2(Annual usage in units){Order cost)

(Annual carrying cost per unit)

Example : UBNT firm for internet receiver maker . Annual demand for the SMI is
16,000. The annual holding costper unit is $2.50 and the costto place an order is
$50.

* *$
\jz 16000850 _ g0 e er order

$2.50

Stock Levels_¢asal aib i
Concept And Meaning Of Minimum Stock Level e isd s siewal oY/ 1)) iraga s¢da
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Minimum level or safetystock level is the level of inventory, below which the stock
of materials should not be fall. If the stock goes below minimum level, there is a
possibility that the production may be interrupted due to shortage of materials. In
other words, the minimum level represents the minimum quantity of the stock that
should be held at all times.

sy 4353 by O (i Y 535 ¢ (s Rl 5 sina st ) (5 Rl (5 siana sl (5D (5 sl
s ) sall (i e LY a8 g1y () Jlaia) @lligh ¢ (V) (5 sl (e (5 5l il 13 ) sl

Ll Y aven A Lo LAY Cangy A (5 Sl e 5o sl 5oV (s sl Jiay ¢ Al

The minimum level is determined by using the following formula
Minimum Level = Re-order level -(Normal consumption x Normal Re-order Point)

Calculation OF Minimum Level Or Safety Stock
O (A (6 gl Y ) Gludal
1. Re-order Level = Maximum consumption x Maximum Re-order Point.-
2. Normal consumption = (Maximum Consumption + Minimum
Consumption)/2
3. normal Re-order Period = (Maximum Re-order Period + Minimum Re-
order Period)/2
Example :
Re-order Period = 8 to 12 days
Daily consumption = 400 to 600 units
Minimum Level =?
Re-order Level =7?

Solution,

Minimum Level = Re-order Level - (Normal Consumption x Normal Re-order
Point)

= 7200 - (500 x 10)

= 2200 units.

Working Notes:
1. Re-order Level = Maximum consumption x Maximum Re-order Point
= 600x 12 = 7200 units

2. Normal consumption = (Maximum Consumption + Minimum Consumption)/2
= (600+400)/2 =1000/2=500 units

3. Normal Re-order Period = (Maximum Re-order Period + Minimum Re-order
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Period)/2
= (12+8)/2=10days
Maximum Level Stock And Its Calculation 4sbuial g (Al Jde¥) asl)
Concept And Meaning Of Maximum Level ¢piall JAo¥) aall Jragasgde
Maximum level is that level of stock, which is not normally allowed to be exceeded.
Beyond the maximum stock level, a blockage of capital should be exercised to
check unnecessary stock. The factory should not keep materials more than the
maximum stock level. It increases the carrying costof holding unnecessary
inventory level. It is the opportunity costof holding inventory.
5 sl (B aa) aay o slay Bale manth W 5315 ¢ (53 (5 siie g a 3Al e W) sl
gl Jaiiny Vi iy 555 poall s (5 p3all (e (3l QU al 51 JUBYT s i ¢ (5 33l
Ol (5 siuay Jaldia D4, jidal) QSN (g 3 138 (59 JAa) (5 siasal (oaamY) 2l e ST sally
O 3l Blaia S dliad) da jall 44l Lg3) 5 ) 5 pall e
The maximum stock level can be calculated by using the following formula:
Maximum Level = Re-order Level + Re-order quantity - (Minimum consumption X
Minimum Delivery Time)
Stock Investment Stock market investing Human resource managements
Example :
Re-order quantity = 1000 units
Re-order Level = 1500 units
Re-ordering period = 4 to 6 days
Daily consumption = 150 to 250 units
Maximum Level= ?
Solution

Maximum Level = Re-order level + Re-order quantity - (Minimum
(consumption x Minimum Re-ordering period
=1500 +1000 - ( 150 *4)

= 1900 units.

Questions

1-  What is meant by material control?

2-  What are the functions of material control?

3-  What are the purchase procedures? mention it.

4-  What is meant by pricing for exported materials and what is the need for

5-  What dowe mean by stock levels and what are their types?
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Exercises

Exercise (1): The followings transactions took place in respectof material in
during the month of June, 2011. You are required to write up the Stores Ledger

under(weight average — FIFO— LIFO ) for al-as war company:

June 5/ was balance the materials 200 units @ $ 4 .

June 8/ 500 units purchased amount $ 2500 and paid the transportation expense
$ 500.

June 9/ issued 250 units .

June 11/ 200 units purchased @ $ 4 per unit and paid the commission $ 200.
June 12 / 300 units purchased @ $ 6 per unit and paid the commission $ 1 per
unit.

June 15 /550 units issued

June 19 /50 unit return to stores from quantity issued in Jan. 15 .

June 30/ The inventory last period 400 units and found the cause of deference

is 50 unit damage alone note that the percentage of damage are allowed10%of
inventory.

Exercise(2) : The following data concerning industrial FINE company related to
the movement of materials inventory for May 2014:

Re-order Period = 22 to 30 days

Daily consumption = 800 to 1200 units

Re-order quantity = 20000 units

Re-order Level = 36000 units

Require :Calculate the economic order quantity

Exercise(3): Annual demand = 20000 units
The annual holding costperunit is =$ 3
the costto place an orderis $ 50

Require :calculate the following

1- Minimum Level

2- Maximum Level
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Week 8: Labor control, wage document circle, payment , methods

Labor Cost Control
Janl) Al e 48,0
Concept And Meaning Of Labor Cost Control Jeall 4alS 4,8, iaa g a sgda
Labor cost covers one of the major portion of the total costof a productor job.
It may increase unnecessarily due to inefficiency of workers, wastage of
materials by workers, idle time, unusual overtime work and high labor
turnover.
Hence, the management should devise effective techniques for controlling
labor costto ensure maximum outputs of better quality at low cost through
proper utilization of the labor force.
s ) 330 Lary  Jeall il o) grinall Allea W) 48N (o Ay s s )52 ¥) AdlS
e Sl e gl i gl gl cGalalall Jd (e o) gall (1388 alalall 36 LS i Caas ) 5SS
el 488 Al cullisl) | galie )
525n 5 dalle s e lacal ¥ A e 6 ol Allad 0l IS5 5 0¥ e il
aal) 3 80 Jaad) DAY JNA (e J8T 48K (Jcad

Basically, management is concerned with controlling labor cost. Labor cost
control involves such systems, procedures, techniques and tools used by the
management in order to keep the labor costof the productor job as minimum
as possible. Labor costcontrol consists of a number of such regular activities
which are carried on by various departments of the organization in a
coordinated manner to ensure the availability of the best employees and their
optimum utilization.
Akl o2 Jio Allenl) A8lS5 4d) po paniati Aleall A8SH 8 oSy 5 )0Y Qi ¢ Ll B
sl tiall Aleall 4815 e Laliad) Jal e 5 )0Y) Lgeadiias il <l 5al) g cala@ill 5 le) al)
Lo a8 il dpalall Aadi¥) 028 (e 220 (e Allandl 4GS 28I o () 5SH (Saa 2a Sl die A
oed JLaY) I 5 il sall Juadl 81 5 lasal Aiia A3y ylay Aadiial) 8 Aabisdll <l oY)
It is the system followed by the management to maximize quality output at a
minimum cost. Labor cost control includes the process of developing various
forms, studying and recording the activities and performance of workers,
calculating the correct amount of wages and making payment in time. It also
include the process of analyzing and reporting labor costto the management
for planning and decision making.
Aalee Alenl) 4815 280y Jadii AalS5 JHl cula A 53 53 adanil 5 5100 dnsii 53] Uil 4
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Wage Payment 252 g ada
Wages are one of the major portion in the total cost of production. There is
always a chance of fraud in wage payment.
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Therefore, an effective administrative and accounting control system must be
implemented by the management to minimize fraud and to keep the labor cost
minimum. As already stated, a number of departments are set up for the
effective utilization of labor force and its proper accounting and controlling.
These departments are required to work in a coordinated manner and to support
the management in controlling labor costby recording and reporting their
activities on regular basis. The management should evaluate and revise its
controlling systemto find out leakages and to stop such leakages in time. Fraud
in wage payment may result in various ways like inclusion of dummy worker
in pay-roll, manipulating hours, recording extra overtime, using a wrong wage
rate and registering absent workers. ; ;
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Concept And Meaning Of Wage Payment System _ga¥) ads alai Jragaggda
The system of wage payment is the method adopted by manufacturing
concerns to remunerate workers. It is the way of giving financial
compensation to the workers for the time and effort invested by them in
converting materials into finished products. It indicates the basis of making
payment to the workers, which may be either on time basis or output basis. The
selection of the system depends on the type and nature of the concern and its
products. Thewage payment systems can be divided into two main systems as
follows

1. Piece rate system  4akadll jal Jara Ui

2. Time rate system <8l ja) Jara ol
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Week 9: Motivations , kinds & importance, preparation of wages payrolls .

Piece Rate System Of Wage Payment, Its Advantages And Disadvantages
Qeadl 9 Uljall «sal) ada B dadadl) ) aUAS
Concept And Meaning Of Piece Rate System Of Wage Payment. The piece
rate system is that system of wage payment in which the workers are paid on
the basis of the units of output produced. Piece rate system does not consider
the time spent by the worker . Piece rate systemis the method of remunerating
the workers according to the number of unit produced or job completed. It is
also known as payment by result or output. Piece rate system pays wages at a
fixed piece rate for each unit of output produced. The total wages earned by a
worker is calculated by using the following formula:
Total Wages Earned= Output x Piece Rate
dadadl) Jara @il =dfaical) gVl Mlaa)
sl adaagialy G )l ads ol g8 dekadl) gl euf.sdﬁ‘y\ ol Axkaill g ol i s o sgie
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Advantages Of Piece Rate System

dakailly 2l ol L) e

The following are some important advantages of piece rate system of wage
payment.

* Piece rate system pays wages according to the output produced by the worker
It encourages efficient workers.

ST Jleal) aaiy g ¢ Jalall daiiy (2 LS Gy ) g1 Aadaill e ol

* Piece rate system helps to reduce idle time.

bzl gl (20838 e e by dakadl) Jara ol

* Piece rate system gives incentives to the workers to adopt a better method of
production for increasing their production and earning.

oS 5 pgalil 830 3 Juadl 53] 485y la il Jleall 381 n adall o) Qi ey

* Piece rate system helps the management to determine the exact labor cost per
unit ..3as 5 S 3a8all Jeal) A8lS5 sl 3510 ac Ly dadasl) sl eUé.'a

* Piece rate system reduces per unit cost of production due to increased volume
of reduction.=saill aaa 30l ) Z WY (e Bas gl dalSS 8 sy dzlad jal sl

* Plece rate system requires Iess superV|S|on cost.
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Disadvantages Of Piece Rate System 4akill allai & ¢ gl
The following are the notable disadvantages of piece rate system
* Piece rate system does not help in producing quality output as the workers
are concentrated more on quantity instead of quality.
Ju il e 58 55 Jleall adylle 535 la jdaz il b aeluy Y Aakil) sl s
Age sill
* Piece rate system does not help for a uniform flow of production and makes
difficult to regulate the production schedule.
Aaali) Jglas A alaie Caanall (e ddes g oY) (3805 andats 8 deluy Y dadadll Jara ol
* It is very difficult to fix an acceptable and reasonable piece rate for each item
of output or job. s jaall (e 2ty JST Axdadl) Janal 4 g 5 45 5l 4a 5 ) Jas Canall (e
Jeall
* Piece rate system adversely affect the workers' health as well.
Lol Jlaadl daia o Gl dadal) ja) Jama aldas jigy
* It requires extra supervision costfor quality output and effective use of

materials, tools and equipment.
il arall gl ¥ 5 3 gall Jladl) aladina¥) g latiiall 33 gad ddlia) ol jd) 2415 llaty,

Time Rate System Of Wage Payment, Its Advantages And Disadvantages
G gnd) 9 L jadl ¢y gad) cﬁﬁ < gl) jal el.B.n'
Concept And Meaning Of Time Rate System Of Wage Payment
The time rate system is that system of wage payment in which the workers are
paid on the basis of time spent by them in the factory. Under this system, the
workers and employees are paid wages on the basis of the time they have
worked rather than the volume of output they have produced. Hence, according
to this system, wages are paid on hourly, weekly or monthly basis. Under time
rate system, the wages earned by a worker is determined by using the following
formula.
(8 Ay oAl < )l e Jleall g i) oY) adall aldas ) sa ) Jams alkas
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Wages Earned = Time spent(Attended) x Wage rate per
hour/day/week/month
‘)@_..'I:/t}\...u\ /eﬁ/:\.c\.mdﬂ DAY Jame * (J}ﬁaﬂ\)ﬂé}]\ e Ol = A8l )

Advantages Of Time Rate System

The following are some of the important advantages of time rate system of
wage payment: oY) panal i gl Jara alail dagall Ll jall (an, ‘;&\

* Time rate system is simple to understand and easy to calculate.
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* Time rate system is quite useful for organizations that use costly inputs for
quality outputs. 4xlle Cla Aal diaad GBAL RIS Al Gl gall lan 2ia 0 ) Jara ldas
33 gl
* Time rate system is beneficial for average and below workers.
el LAY g s giall Jlaall dpia i gl) Jna aldad
* Time rate system assures regular income and creates the feeling of economic
security among the workers. (e¥b sad (3l1ay 5 aliiia Jas Ganay i gl) Jana ol
alalal) p (salaiEy)
* Time rate system does not discriminate the workers and is preferred by trade
unions. dslleal) LA J8 (e iy g Cplalall g ey W 8 gl Jama ol
Disadvantages Of Time Rate System
The following are some notable disadvantages of time rate system of wage
payment.
* Time rate system does not help in increasing output and improving efficiency
as there is no correlation between effort and reward.
* Time rate system is not justifiable between efficient and inefficient workers
and skilled and unskilled workers.
* Time rate system pays for idle time, which increases the costof production.
Time rate system encourages a go-slow tendency among workers during
working hours and encourages them to work overtime.
* It is difficult to estimate exact labor costin advance.
* It requires strict supervision to get the required quantity of output.
oY) @l a3l Jomall JUait AL galall G gaal) mmy L Lasd
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Week 10: Wages problems , owver time , idle time, premiums holiday, direct and indirect labor entry. .

1. Time Wage Systemor Time Rate System : Under this system, laborers get
wage on the basis of time which is utilized in organization. This wages may be
charged on per hour, per day, per month or per year . There is no relation or
quantity of output and wages in this method. this method is most popular. Its
other name is day wages system or time wok system.
We can calculate wages with following formula
ol e al o Jleal) Jany ¢ AUl 138 (o gay 18 ) Jama plai g dyia 3l sa¥) U
sl el 8 slasdl A sfdelu S e Hsalled (a8 daaiall L addciod) cid gl
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Total Wages = Time taken X Rate

For Example:- A worker produced 10000 articles 4=l in 7600 hours . His
hourly wage rate is $ 2.

Required : Calculate the wage of the worker when he is paid on the basis of
time.

Solution - Applying the formula, we get :

Wage=T.T.* R

= 7600 * 2 = $15200

2. Piece Wage Systemor Work Rate System :
Under this method or system, laborers can get the wages on the basis of their
work done. No time element will be used for calculation of wages. Rate is also
on the basis of quantity or unit produced. Under this, method, laborer tries to
best for producing the products fatly for getting more wages. This method is
also called payment by result.
e@@_M\MQM&J?‘\J\&gM\ Jlaall (Kay ¢ olaill PEPAT SOSENoe
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formula:- Total Wages = Unit Produced X Rate per unit

For Example : 2500 units were produced by a worker in 1200 h$ Rate of
production is $ 3 /- per unit. Calculate the wage of the worker if he is paid
according piece rate method.

Solution :- By applying formula, we get :
Wages = units produced X rate per unit

= 2500 X 3=$ 7500
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Examples (1): Acer one staff working 10 hours a day. The time wage rate of
$ 200 and to you the following additional information:
The daily working hours 8 hours. The overtime hours are calculated on the
basis of 150% of the ordinary course of business
Required: 1. calculating the worker's wage payable and extra time.

2. recording journal entries
Solution:
1- Accrued wages =(hours' work daily * Wage rate per h.)+ (hours' work
additional * Wage rate per h.* 150%)

=(8 * 200)+(2*200* 150 %)

=1600 + 600 ----- 2200
2- Work In Process Control 1600
Factory Overhead 600
Factory Payroll 2200

Example (2):- One workers Apple work of the company during the last week ,
four days and missed work days ,and delayed two hours in these days and has a
daily half-hour as the break knowing that the wage rate per day is$ 100 and the
number of days workweek, five days and 8hours of work each day.
Required:-
1.calculating the worker's wage payable
2.wage analysis
3.recording journal entries
Solution : Accrued wages=( Number of days of work * per day wage rate )—
<Leabsence (Hours delay)
(4* $100 ) — 25 =$375
2- Wage rate per hour = per day wage rate / hours' work daily

=$100/8h

=$125
Absence = 2 hour * $ 12.5 Wage rate per hour

=$25
Break=0. 5 hour * 4 days
=2 hour
=2 hour *$12.5
=$ 25 >>>>factoryoverhead

3- Work in Process Control 350

Factory overhead 25
Factory Payroll 375
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Example (3) : Oscar Industrial Co. used to pay wages pace system.
The following number of units produced worker David in the first week of
February 2010 knowing the unit wage rate is $ 10 (38-61-58-40-50)
required : 1. Calculating the worker's wage payable
2. Recording journal entries
Solution : 1-
first day =38 units *$10 =$ 380
Second day = 61 units * $ 10 = $ 610
Third day =58 units *$10 = $ 580
Forthday =40units *$10=$400
Fifth day =50 units *$ 10 =$ 500
Total $ 2470

2- Work in Process Control 2470
Factory Payroll 2470
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Questions and exercises

Questions

1- What is meant by labor cost?

2- What are the methods of calculating wages?
3- What is wasted time?

4- What are the rewards and wages in kind?

Exercises

Exercise 1: Ahmed Jassim works in Smartin dustrial company shall receive a
monthly salary of $600and follows the details of his work during the month of
April for the year 2010:

3days of absence from work

During the month ,the work of Ahmed four additional hours for normal work
note that the company additional hour wagerate is calculate dat a rate 0f150%
of normal hour.

Note that month,30 days by 8hours daily punctuated hour break and that the
actual working days during the monthis22 days.

Required:

1.calculating the worker's wage payable

2.wageanalysis

3.recordingjournal entries

Exercise 2: Riad Kassemworks in Sniper industrial company that piece
tracking system in the payment of wages and follows the details of units
produced by him vinegar month of October 2013, note that the piece rate wage
is $5:
The first week, including 113 pieces of 8 defective pieces
The second week of 121 pieces, including 11 pieces in process
The third week of 126 pieces, including a damaged piece 6000
The fourth week 130 pieces
required : 1. Calculating the worker's wage payable

2. Recording journal entries
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Week 11: Factory owerhead control, actual expenses ,restriction, estimated expenses, allocate expenses ower all
centers , rules of distribution.

Factory Overhead
dalad) culadl)
Overhead costs are : the costs that belong to more than one productand it is difficult
to link or allocate them directly to the units of the final product, orthey are the costs
that are spent in order to perform a specific activity and benefit from more than one
product, it is spent on the production activity as a whole.
ledar) il (305 it (e SISl RISl Ll e Adal) oISl o e
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The important steps involved in Overhead Accounting are:-

1. Collection, Classification of Overheads.
2. Allocation, Apportionment and Reapportionment of overheads..
3. Overheads of Absorption.
- ot alall el el Adlgll ol shaal)
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1.0verheads collection is the process of recording each item of costin the records
maintained for the purpose of ascertainment of costof each costcenter or unit.
A8IS5 (e oS o yad A giaall sl 8 AR 3 gy (e iy JS ot Alee 5 Adlad) i) pan
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2. Indirect costs are distributed to the entire factory among the departments of the
organization, whether production or service, by allocating a percentage of the
general commissioning to cost centers on a basis that allows the distribution of
elements in fair proportions, as the costs distributed are not related to the work of
the department (the center) itself.
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3. The application of costcenter theory in charging overhead costs to production

units requires follow the following steps:
e Determine costcenters (materials, wages, or both)
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e Inventory and estimation of the overhead cost elements.
e Charging costs to cost centers.
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After counting and determining the indirect costs, they are distributed on two levels:
1. Primary Distribution
2. secondary distribution
O s o Lo )58l ¢ st 93 bl e oSl Clus aay
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1.Primary Distribution: the distribution of indirect costs to the cost centers. The centers within the
organization: which are service centers (such as maintenance services, a restaurant), and
production centers (manufacturing, assembly) so that the cost of each center (whether service or
production) of these centers includes its original cost. Added to it what was downloaded.
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2- Secondary distribution: that is, the costs of the service centers are distributed
to the production centers (for example, the distribution of the costs of the
maintenance center, all original and charged to the commodity production
centers.
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* Direct Signal Method 3 _xil
« step down method 43 )
» Reciprocal method 4alas

The Direct Method 44 )kl 3 bl

It assumes that there is no reciprocal relationship between the service
departments, According to this method, the costs of each service center are
allocated separately to the production centers only to the extent that they benefit
from the services of the service centers, provided that the basis of distribution is
chosen according to the nature of the service performed by the service center.
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Step Down Method 4! jlsll 4, k)
According to this method, the costs of each service center are distributed to
each of the production centers and other service centers, according to the
relative importance of the downward benefit from the services of each service
center separately. Therefore, this method requires that the production service
centers be arranged in descending order according to their relative importance,
so that it starts first with distributing the costs of the most important service
center that provides services to the largest possible number of service centers
and production centers and ends with distributing the costs of the service center
that leads services to the least number of centers i.e. centers Production only,
where the costs of the relatively most important service center are distributed
first, then the next, and it ends with distributing the costs of the last service
center to the production centers only. )
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Week 12: Direct distribution method, step down method
Direct Method of Allocation

The direct method allocates costs of each of the service departments to each
operating department based on each department’s share of the allocation base.
Services used by other service departments are ignored. This means the direct
method does not recognize service performed by other service
departments. For example, if Service Department A uses some of Service
Department B’s services, these services would be ignored in the cost allocation
process. Because these services are not allocated to other service departments,
some accountants believe the direct method is not accurate.
anadill 3 )il 44 )Ll
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Example 1 : Acer company has two production center and two service center ,
the relating to a period are as under
SERVICE center

PRODUCTION center

Maintenance PERSONNEL MOULDING
FINISHING
Direct department costs $126,000 $24,000 $130,000 $120,000
Square meters 15,000
3,000
Number of employees 20 10 40 30
Machine-hours 30,000
20,000
Required: prepare statement the distribution of expenses in the total method
and direct method.
The Total method:
Maintenance+ PERSONNEL
= ($126,000 + $24,000) - $150,0000
*Total Machine-hours in production departments:
30,000 + 20,000 = 50,000 hours
sservice center costallocated to moulding
30000 /50000 * 150000 = $90000
sservice center costallocated to finishing
(20,000 +50,000)* $150,000 = $60,000 =
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SERVICE center

PRODUCTION center

Maintenance  PERSONNEL
MOULDING FINISHING
Direct department costs $126,000  $24,000 $130,000 $120,000

Distribution service center (126,000) (24,000) 90,000 60,000
. 000 000 220000
180000

The Direct Method
Maintenance $126,000
*Total Machine-hours in production departments:
30,000 + 20,000 = 50,000
*Maintenance center costallocated to moulding
=(30000[50000) *$126000= $75000

*Maintenance center costallocated to finishing
= (20,000 +50,000) * $126,000 = $50,400 =

PERSONNEL $ 24000

Total Number of employees (40 + 30 )= 70
PERSONNEL center costallocated to moulding
= (40 + 70)* $ 24000= $13714

PERSONNEL center costallocated to finishing
= (30 + 70)* $ 24000= $10286

SERVICE center PRODUCTION

center

Maintenance PERSONNEL OULDING
FINISHING
Direct center costs $126,000 $24,000  $130,000
$120,000
Distribution Maintenance center (126,000) 75,600 50,400
Distribution PERSONNEL center (24,000) 13714
10286

0 0 219,314
180,686

45




Example 2: Smart company has four production center and three service
center , the relating to a period are as under
service department Production department

power Human  Maintenance A B C D
recourses building

Factory overhead 30000 10000 20000 50000 40000 60000 90000
Kw hours 12000 18000 20000 50000
Number of employs 30 10 20 40

Square feet 5000 6000 4000 5000

Required: prepare statement the distribution of expenses in the total
method and single (Direct) method
The Total method:
Power+ Human recourses +Maintenance building= ($30,000 +
$10,000+$20,000 )
—> $60,0000
*Total Kw hours in production departments:
12000 +18000+20000+50000= 100,000
service center costallocated to A center
= (12000/10000) * $60000 =$ 7200
(service center =

costallocated to B
center

= (18000/100000) *$60000= $10800
(service center =

costallocated to C
center

= (20000/100000) * $60000 = $12000
(service center cost =

allocated to D
center

= (50000/100000) * $60000 = $ 30000
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service department Production department

power Human  Maintenance A B C D
recourses building

Factory overhead 30000 10000 20000 50000 40000 60000 90000
Distribution service  (30000) (10000)  (20000) 7200 10800 12000 30000
center

Total 0 0 0 57200 50800 72000 120000

The Direct Method

power $30,000

*Total Kw hours in productiondepartments:
12000 +18000+20000+50000= 100,000
Power center costallocated to A center

= (12000/100000) * $30000 = $3600

(power center costallocated to B center =

=(18000/100000) * 30000 = $5400
Power center costallocated to C center
=(20000/100000) * $30000= $6000
Power center costallocated to D center
= (50000/100000) *$30000=$15000
Human recourses $ 10000

*Total Number of employs in production departments:
30 +10 + 20 +40= 100
Human recourses center costallocated to A center

=(30/100)*$10000=$3000
Human recourses center costallocated to B center =

= (10/100) *$10000 =$1000

Human recourses center costallocated to C center
= (20+100) *$10000 =$20000

Human recourses center costallocated to D center

= (40/100) *$10000 = $4000
Maintenance building $20,000

*Total Square feet in production centers:
5000+6000+4000+5000= 20,000

Maintenance building center costallocated to A center
=(5000/20000) * $20000 =$5000

Maintenance building center costallocated to B center =
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= (6000/20000) *$20000 = $6000
Maintenance building center costallocated to C center =

=(4000/20000)*$20000=$4000
Maintenance building center costallocated to D center
= (5000/20000) * $20000 =3$5000

service department Production department

power  Human Maintenance A B C D
recourses  building

Factory overhead 30000 10000 20000 50000 40000 60000 90000
Distribution power (30000) 3600 5400 6000 15000
center

Distribution Human (10000) 3000 1000 2000 4000

recourses center

Distribution (20000) 5000 6000 4000 5000

Maintenance building

center

Total 0 0 0 61600 52400 72000 114000
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Week 13: Step-Down Method

The Step-Down Method:

The step-down method is also called the sequential method. This method
allocates the costs of some service departments to other service departments,
but once a service department’s costs have been allocated, no subsequent costs
are allocated back to it. The choice of which department to start with is
important. The sequence in which the service departments are allocated usually
effects the ultimate allocation of costs to the production departments, in that
some production departments gain and some lose when the sequence is
changed. Hence, production department managers usually have preferences
over the sequence. The most defensible sequence is to start with the service
department that provides the highest percentage of its total services to other
service departments, or the service department that provides services to the
most number of service departments, or the service department with the highest
costs, or some similar criterion.
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Example3 :
SERVICE Centers
PRODUCTION Centers management
a3l maintenance cutting summation
Direct Center costs $126,000 $24,000 $100,000
$160,000
Number of employees 30 90 150
30
Direct labor hours 2,100
10,000
Machine-hours 20,000
30,000

Required: prepare statement the distribution of service centers costs in the
Step-Down method.
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solution:

270 = (90 + 150 + 30 ) ---=>270

Step 1: service management

$(126,000) (90 + 270) = $42,000 maintenance Center
$(126,000 ) (150 + 270) = $70,000 cutting Center
$(126,000) (30 +270) =$14,000 summation Center
Step 2:maintenance >>>> $(66,000) =(24000 + 42000)
$(66,000) (20000 =+ 50000) =$26,400 cutting Center
$(66,000) (30000 + 50000) =$39,600 summation Center

Service center Production center
service maintenance cutting  summation
management
Direct Center costs $126,000 $24,000 $100,000 $160,000
Distribution of service (126000) 42000 70000 14000
management
Distribution of (66000) 26400 39600
/laintenance center
[otal 0 0 196400 213600
Example 4:When selected and identify factory overhead elements of the reality
of records and books of analytical materials and wages and expenses shows
that there are common elements that belong to more than one center were as
follows:
Rent factory 5000
power Dynamics 3000
Heating and cooling 1000
depreciation of buildings 2000
insurance of employees 5000
If I know that the available data on the costcenters as follows:
Production department Service
department
A B C D  Maintenance Maintenance
machine building
Area m"2 200 400 300 600 200 300
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Power machinery/kW 350 150 200 300
Number of employees 150 50 150 100 30 20

Required:1-Determine the share of each Center of factory overhead elements.
2- prepare statement the distribution of expenses in the:

A- step down method and B- total method and C- single method.

Solution:1-

Rent factory 5000/2000_(200+400+300+600+200+300)

$5000 +2000 =$/m 2.5

Share A center of Rent factory 200 m * $2.5 = $500
Share B center of Rent factory 400 m * $2.5 = $1000
Share C center of Rent factory 300 m * $2.5 = $750
Share D center of Rent factory 600m * $2.5= $1500

Share main. Mach. center of Rent factory 200m * $2.5 = $500

Share main. building center of Rent factory 300m * $2.5 = $750
power Dynamics $3000 + 1000 = $3 /kw.... (350+150+200+300)

Share A center of power Dynamics 350kw * $3= $1050

Share B center of power Dynamics150kw * $3= $450

Share C center of power Dynamics200kw* $3= $600

Share D center of power Dynamics 300kw* $3= $900

Heating and cooling $1000 + 2000 = $0.5

m........ 2000(200+400+300+600+200+300)

Share A center of Heating and cooling200 m * $0.5 = $100

Share B center of Heating and cooling 400 m * $0.5 = $200
Share C center of Heating and cooling 300 m * $0.5 = $150
Share D center of Heating and cooling 600m * $0.5= $300

Share main. Mach. center of Heating and cooling200m * $0.5 = $100
Share main. building center of Heating and cooling300m * $0.5 = $150
depreciation of buildings $2000 + 2000 = $1 /m
..2000(200+400+300+600+200+300)

Share A center of depreciation of buildings 200 m * $1 = $200

Share B center of depreciation ofbuildings400 m * $1 = $400

Share C center of depreciation ofbuildings300 m * $1 = $300

Share D center of depreciation of buildings 600m * $1= $600

Share main. Mach. center of depreciation of buildings 200m * $1 = $200
Share main. building center of depreciation ofbuildings300m * $1= $300
insurance of workers $ 5000+500 = $ 10each work
500(150+50+150+100+30+20)

Share A center of insurance of employees 150 * $10 = $1500
Share B center of insurance of employees 50 m * $10 = $500
Share C center of insurance of employees 150 m * $10 = $1500
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Share D center of insurance of employees

Share main. Mach. center of insurance of employees

100m * $10= $1000

30m * $10 = $300

Share main. building center of insurance of employees 20m * $10= $200

Production center Service center
A B C D Malnt_enance Ma}lnFenance
machine building

Rent factory 500 1000 750 1500 500 750
power 1050 450 600 900
Dynamics
Heating and 100 200 150 300 100 150
cooling
depreciation of 200 400 300 600 200 300
buildings
insurance of 1500 500 1500 1000 300 200
employees
Total 3350 2550 3300 4300 1100 1400

2-Astep down method
Maintenance building $1400

1700 (200+400+300+600+200+0)
Share A center of Service center Maintenance building(200+1700) * $1400=

$165

Share B center of Service center Maintenance building(400+1700) * $1400=

$329

Share C center of Service center Maintenance building(300+1700) * $1400=

$247

Share D center of Service center Maintenance building (600+1700) * $1400=

$494

Share main. Mach. center of Service center Main. building (200+1700) *1400=

$165
Maintenance machine $1100

Power machinery / kW1000(350+150+200+300)
Share A center of Service center Maintenance machine (350+1000) * $1265=

$443
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$190
$253

$379

A

Factory overhead 3350

Distribution 165
Maintenance building

Distribution 443
Viaintenance machine

Total 3958

B

2550
329

190

3069

Production center

C

3300
247

253

3800

53

4300
494

379

5173

Share B center of Service center Maintenance machine(150+1000) * $1265=
Share C center of Service center Maintenance machine(200+1000) * $1265=

Share D center of Service center Maintenance machine (300+1000) * $1265=

Service center

Maintenance Maintenance

machine building
1100 1400
165 (1400)
(1265)

0 0




Week 14: Activity based costing (ABC).
Activity-Based Costing (ABC):

Activity-based costing (ABC) is a costing method that assigns overhead and
indirect costs to related products and services. This cost accounting
method recognizes the relationship between costs, overhead activities, and
manufactured products, assigning indirect costs to products less arbitrarily
than traditional costing methods. However, some indirect costs—such as
management and office staff salaries—are difficult to assign to a product.

« Activity-based costing (ABC) is a method of assigning overhead and
indirect costs—such as salaries and utilities—to products and
services.

« This system of cost accounting is based on "activities"; an activity is
any event, unit of work, or task with a specific goal.

« All activities are cost drivers: Purchase orders and machine setups
are examples of activities.

. The cost driver rate, which is the cost pool total divided by the cost
driver total, is used to calculate the amount of overhead and indirect
costs related to a particular activity.

. ABC is used to get a better grasp on costs, allowing companies to
form a more appropriate pricing strategy.
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How Activity-Based Costing (ABC) Works

Activity-based costing (ABC) is mostly used in the manufacturing industry. It
enhances the reliability of cost data, hence producing nearly true costs and better
classifying the costs incurred by the company during its production process.

This costing system is used in target costing, product costing, product
line profitability analysis, customer profitability analysis, and service pricing.
Activity-based costing is used to get a better grasp on costs, allowing companies
to form a more appropriate pricing strategy.

The formula for activity-based costing is the cost pool total divided by the cost
driver, which yields the cost driver rate. The cost driver rate is used in activity-
based costing to calculate the amount of overhead and indirect costs related to a
particular activity.
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The ABC calculation is as follows:

1. Identify all the activities required to create the product.

2. Divide the activities into costpools, which include all the individual
costs related to an activity. Calculate the total overhead of each cost
pool.

Assign each costpool activity costdrivers, such as hours or units.
4. Calculate the costdriver rate by dividing the total overhead in each cost
pool by the total costdrivers.
5. Multiply the costdriver rate by the number of costdrivers.
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As an activity-based costing example, consider Company ABC, which has a
$50,000 per year electricity bill. The number of labor hours has a direct impact
on the electric bill. For the year, there were 2,500 labor hours worked; in this
example, this is the cost driver. Calculating the cost driver rate is done by
dividing the $50,000 a year electric bill by the 2,500 hours, yielding a cost
driver rate of $20. For Product XYZ, the company uses electricity for 10
hours. The overhead costs for the product are $200, or $20 times 10.
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Example:

Edit Format

B & @& < v > 5y
l“"’|n I U A &H E OE H O BOoss 1 @&
F5
A B C D

1

2 |Cost pool S

2 |Batch set-ups 90,000

4 |Stores/material handling 92,000

5 Other (rent etc.) 42,000

& Total 224,000

Fi

& Cost driver data Ordinary  Deluxe

9 | Batch size 2,000 100

10 |Number of components per unit 20 30

11
12

If we apply the ABC process we can see that Step 1 is complete as we know
what the costpools are.

For Step 2 we need to identify the costdriver for each costpool.

Batch set-up costs will be driven by the number of set-ups required for
production:

Ordinary: 20,000/2,000 =10

Deluxe units: 2,000/100 = 20

Total set-ups: 30
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Stores/material handling costs will be driven by the number of components
required for production:

Ordinary: (20,000 units x 20) = 400,000

Deluxe: (2,000 units x 30) = 60,000

Total components = 460,000

Other fixed overheads will have to be absorbed ona labour hour basis because
there is no information provided which would allow a better approach. We
know from Example 1 that total labour hours required are 112,000.

In Step 3 we need to calculate a costper unit of costdriver.

Batch set-ups:

$90,000/30 = $3,000/set-up

Stores/material handling:

$92,000/460,000 = $0.20/component

Other overheads:

$42,000/112,000 = $0.375/labour hour

Step 4 then requires us to use the costs per unit of costdriver to absorb costs
into each product based on how much the product uses of the driver.

Batch set-ups:

Ordinary: ($3,000/2,000 units) = $1.50/unit

Deluxe: ($3,000/200 units) = $30/unit

Store/material handling:

Ordinary: ($0.20 x 20 components) = $4/unit

Deluxe: ($0.20 x 30 components) = $6/unit

Other overheads:

Ordinary: ($0.375 x 5 hours) = $1.875/unit

Deluxe: ($0.375 x 6 hours) = $2.25/unit

The ABC approachto costing therefore results in the figures shown in the
spreadsheet below.
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Edit Format

B ¥ @ < © >~ T5ye
11vn:gg@§§§m§%¥z
G14
A B C D

1

2 Ordinary  Deluxe

3  Marginal costs (as before) 75.00 50.00

4 |Overheads:

5 |Batch set-ups 1.50 30.00

6 |Material handling 4.00 6.00

7 Other 1.875 2.25

2 Total production cost 82.375 128.25

S

10 Comparison

11 Full production cost (AC) 85.00 102.00

12 Full production cost (ABC) 82.375 128.25

13
Check:

If production goes according to budget total costs will be (20,000 x $82.375) +
(2,000 x $128.25) = $1,904,000

If you look at the comparison of the full costper unit in the spreadsheet above,
you will see that the ABC approachsubstantially increases the cost of making a
Deluxe unit. This is primarily because the Deluxe units are made in small
batches. Each batch causes an expensive set-up, but that costis then spread
over all the units produced in that batch — whether few (Deluxe) or many
(Ordinary). It can only be right that the effort and costincurred in producing
small batches is reflected in the cost per unit produced. There would, for
example, be little point in producing Deluxe units at all if their higher selling
price did not justify the higher costs incurred.

In addition to estimating more accurately the true costof production, ABC will
also give a better indication of where costsavings can be made. Remember, the
title of this exam is Performance Management, implying that accountants
should be proactive in improving performance rather than passively measuring
costs. Forexample, it’s clear that a substantial part of the costof producing
Deluxe units is set-up costs (almost 25% of the Deluxe units’ total costs).
Working on the principle that large costsavings are likely to be found in large
costelements, management’s attention will start to focus on how this cost
could be reduced.

For example, is there any reason why Deluxe units have to be produced in
batches of only 100? A batch size of 200 units would dramatically reduce those
set-up costs.
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The traditional approachto fixed overhead absorption has the merit of being
simple to calculate and apply. However, simplicity does not justify the
production and use of information that might be wrong or misleading.

ABC undoubtedly requires an organisation to spend time and effort
investigating more fully what causes it to incur costs, and then to use that
detailed information for costing purposes. But understanding the drivers of
costs must be an essential part of good performance management.

Activity-based costing, under- or overallocated indirect costs (continuation of
Exercise 11.13) (40 minutes)

Woltgang Iser, the accountant of Starkuchen, wants to further examine the relative proficabilicy
of raisin cake and layered carrot cake. He questions the accuracy of the acrivity-based normal
costing numbers. He notes thar the 2015 acrual manufacturing indirect cost was €256 256, This
differs sizably from the €210 800 budgerted amount. The 2015 acrual indirect costs per activiry
area were as follows:

Activity area 2015 actual costs
Mixing €62 400
Cooking 83 840
Cooling 12 416
Creaming/icing 36 000
Packaging 61 600

€156 256

Required

1 Calculate the under- or overallocated manufacturing indirect costs in 2015 for:
a Each of the five activity area indirect cost pools.

b The aggregare of individual activiry area indirect costs.

2 Assume that Starkuchen allocares under- or overallocated indirect costs to individual accounts
based on the allocated overhead component in that account. Whar are the pros and cons of
using:

a Five separate under- or overallocared adjustments (one for each activity area)?
b One under- or overallocared adjustment for the aggregare of all activity area indirect costs?

3 Calculare the 2015 actual unit product cost for raisin cake and layered carrot cake using the
informartion calculated in requirement la.

4 Comment on the implications of the product cost numbers in requirement 3 for Starkuchen's
pricing decisions in 2016,
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Week 15: Absorption rates , accounting procedures to adjusted ower or under applied fon .

Absorption rates

Overhead absorption refers to the allocation of indirect expenses to cost
objects. In this definition:

Indirect expenses are expenses that cannot be directly attributed toa «
specific activity or product.

Costobjects include all the sources of income for a given company, such .
as products, projects, customer groups, retail outlets, and product lines,

for which expenses are aggregated.

In other words, overhead absorption helps you determine your project’s
operating expenses.

Are the costs of direct labor included in the overhead rate?

No — absorbed overhead is only calculated for additional indirect costs
affecting the project budget. Direct costs, suchas direct labor hours, production
costs, machine hours (in production industries), or manufacturing costs are not
included in the equation.

What costs are included in overhead?

Overhead costs generally include:

Indirect costs, suchas a project’s share of the company’s costs.

Raw materials and resources, suchas software, subscriptions, or devices. .
Any additional production process that supportthe projects, i.e. -«
consultations or external support.

Recurring or fixed overheads, such as bills or taxes. -«

Overhead Absorption Formula

The formula for overhead absorption is:

Overhead absorptionrate = total overhead cost =+ total units of the
allocation base

The allocation base is a measure of the activity that drives the indirect costs.
These might differ depending on the type of company. Let’s see how it works
in a real-life example.

Overhead Absorption: Step-by-Step

The simplest calculation for overhead absorptionrate includes the following
steps:

Step 1: Identify Your Total Overhead Expenses

The first step in calculating the overhead absorptionrate is to identify all the
indirect costs or overhead costs incurred by your business, also known as
company overheads. These costs may include rent, utilities, salaries, and wages
of supportstaff, depreciation, insurance, and other expenses that are not
directly related to the production of goods or services.

Then, use the costallocation formula to determine what costs a given project
should cover.

Step 2: Determine Your Allocation Base
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The next step is to determine the allocation base, or the factor that will be used
to allocate overhead costs to the products or services your business produces.
The allocation base should be a measure of the activity that drives the overhead
costs. Forexample, if your business incurs overhead costs based on the number
of direct labor hours worked, then the allocation base could be the total number
of labor hours worked by all employees.

However, there is more than one method of calculating overhead absorption
rates — we will describe them all further later in the article.

Step 3: Calculate Your Overhead Absorption Rate

To calculate the overhead absorption rate, divide the total overhead costs per
unit by the allocation base. The general formula for overhead absorption rate
is:

Overhead absorption rate = actual overhead costs / allocation base

Step 4: Apply the Overhead Absorption Rate

Once you have calculated the overhead absorptionrate, you can apply it to the
total costof goods or services produced by your business to see how they affect
the costs and, as a result, the profitability of your project.

Methods of Calculating Overhead Absorption Rate

Production Unit

For some product-based companies, it is common to calculate the overhead
absorption rate based on the number of implementations of the product the
company expects to complete in a given period. In that case, the overhead
absorption formula is:

Overhead absorptionrate = total overhead cost+ number of
implementations completed

This formula can also be used in other industries — the only adjustment
needed is to replace the number of implementations with the number of other
produced units.

However, in service-dominated industries, produced units are rarely used for
calculating overhead absorption, as they do not reflect the amount of work in
the project. Percentage and hourly rate methods are much better at it.
Percentage Methods

Fortunately for professional services companies, percentage methods for
calculating overhead absorption offer much more accurate insights into the
costs of operating expenses and their influence on project costs.

There are three ways to calculate overhead absorption in the professional
services industry using these techniques:

Percentage of direct labor (or fixed costs in general) .1

Percentage of prime cost .2

Percentage of direct wages .3
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In this method, the overhead absorptionrate is expressed as a ratio of actual or
expected overhead costs to the actual or expected costs of wages needed to
complete the project, multiplied by 100.

Overhead absorption rate (%) = (actual or expected production overhead
costs + actual or expected cost of wages to produce the product) x 100
Importantly, using direct wages as a base for calculations ensures that the costs
are allocated proportionally, as larger projects need to cover a larger fraction of
overheads.

Percentage of Prime Costs: Prime Cost Method

The prime costmethod is very similar to the one that uses only direct wages to
allocate costs. However, in this case, costs of work are not the only ones
included in the calculation; instead, the base for the calculations is direct labor
costwith costs of direct materials and additional resources, such as equipment,
subscriptions, or additional programs, also known as prime costs.

Therefore, the formula for calculating the overhead absorptionrate is as
follows:

Overhead absorption rate = (budgeted or actual overhead + prime cost) x
100

Hourly Rate Methods

Another popular method of calculating overhead absorption rate in the
professional services industry is using rates or costs of the hours to establish a
project’s share of the operational costs. Here are two methods you can use to
do this.

DirectLabor Hours

Calculating overhead absorptionrate per labor hour is the simplest way to
establish overhead costs. This method is also essential for calculating employee
profitability.

In this method, however, the overhead absorption rate is calculated per 1
worked hour in the project using the formula:

Directlabor costper hour rate = overhead for the specific period (indirect
cost) + direct labor hours for the same period

For example, if a project is expected to take 500 hours in a given month and is
supposed to cover $1,000 of overheads, its overhead absorption rate is $2 per
hour.

Costs Per Work Expenses

Naturally, the previous formula can also be adapted to show the overhead
absorption rate as a percentage. In this case, the formula is:

Directlabor hour rate = (overhead for the specific period + the costs of
work for the specific period) * 100
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Week 16: Marketing and managerial costs , analysis, procedures ..

Marketing Cost Analysis

In the realm of product management and operations, a critical aspect that often
determines the success or failure of a productis the marketing costanalysis.
This comprehensive glossary article will delve into the intricate details of
marketing costanalysis, its importance in product management and operations,
and how it can be effectively utilized.

Marketing costanalysis is a strategic tool used by businesses to understand the
cost-effectiveness of their marketing activities. It involves the process of
identifying, classifying, and analyzing various costs associated with marketing
a productor service. This analysis is crucial in making informed decisions
about marketing strategies, budget allocation, and overall business operations.
Marketing Cost Analysis: An Overview

Marketing costanalysis, at its core, is a systematic approachto understanding
the costs associated with marketing efforts. It involves the process of breaking
down and categorizing all the costs incurred in marketing a productor service,
from advertising and promotions to market research and customer service.
The objective of marketing costanalysis is to provide a clear picture of where
the marketing budget is being spent and how effectively it is being utilized. By
doing so, it helps businesses identify areas of inefficiency, opportunities for
costreduction, and strategies for improving marketing ROl (Return on
Investment).

Components of Marketing Cost Analysis

The primary components of marketing costanalysis include direct costs,
indirect costs, and overhead costs. Direct costs are those that can be directly
attributed to marketing activities, suchas advertising expenses, promotional
materials, and sales team salaries. Indirect costs, onthe other hand, are not
directly linked to marketing activities but are necessary for their execution,
such as administrative expenses and utilities.

Overhead costs are the general costs of running a business that are allocated to
marketing activities, suchas rent, utilities, and administrative salaries. These
costs are often distributed across various departments based on their
proportionate use of resources.

Importance of Marketing Cost Analysis in Product Management

In the context of product management, marketing costanalysis is a vital tool
for strategic decision-making. It provides valuable insights into the cost-
effectiveness of various marketing strategies and tactics, which can inform
decisions about product positioning, pricing, and distribution.

By understanding the costs associated with different marketing activities,
product managers can make informed decisions about where to allocate
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resources to maximize the product's market reach and profitability. Moreover,
it allows them to identify and eliminate inefficiencies in the marketing process,
thereby reducing costs and improving the product's overall profitability.

Role in Product Pricing

Marketing costanalysis plays a crucial role in productpricing. By
understanding the costs associated with marketing a product, product managers
can determine the optimal price point that will cover these costs and yield a
satisfactory profit margin.

Furthermore, it allows product managers to assess the impact of different
pricing strategies on the product's marketability and profitability. For instance,
if the marketing costanalysis reveals that a significant portion of the marketing
budget is being spent on advertising, it may be more cost-effective to reduce
advertising expenses and lower the product's price to attract more customers.
Importance of Marketing Cost Analysis in Operations

From an operations perspective, marketing costanalysis is equally important. It
provides insights into the operational efficiency of the marketing department
and its impact on the overall business operations.

By analyzing the costs associated with different marketing activities,
operations managers can identify areas of inefficiency and implement measures
to improve operational efficiency. Moreover, it allows them to assess the
effectiveness of their resource allocation and make necessary adjustments to
optimize operational performance.

Role in Budget Allocation

One of the key roles of marketing costanalysis in operations is in budget
allocation. By understanding where the marketing budget is being spent and
how effectively it is being utilized, operations managers can make informed
decisions about where to allocate resources to maximize operational efficiency
and profitability.

For instance, if the marketing costanalysis reveals that a significant portion of
the budget is being spent on ineffective marketing activities, operations
managers can redirect these resources to more productive areas, thereby
improving operational efficiency and reducing costs.

How to Conduct a Marketing Cost Analysis

Conducting a marketing costanalysis involves a systematic process of
identifying, categorizing, and analyzing all the costs associated with marketing
activities. The first step is to identify all the costs related to marketing,
including direct costs, indirect costs, and overhead costs.

Once all the costs have been identified, they should be categorized based on
their nature and relevance to marketing activities. This categorization is crucial
in understanding where the marketing budget is being spent and how
effectively it is being utilized.
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Week 17: Absorption Costing theory , procedures, animadwersion

Absorption Costing Theory

(Adaa¥)daioal) cadsal) 4, s
1. Absorption Costing Concept  (kllea¥h)daieal) 4811 o sgia
Absorption costing is the basis of all financial accounting statement, sometime
it’s known as total (full) costing. Using absorption costing, all costs (direct,
indirect, variable, and fixed) are absorbed into production. The idea in this
method does not distinguish between different costs, production of the period
must absorbed all cost, and the functional classification is done.
Allea) Akl auly Glal Cajady ¢ AW Audadll Glly apes (ulod & daiadl dall)
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2. Units of sales and Production gl s sl <laag

For the period, you must know units of sales, productionand inventories as:
Beginning inventory XX

Production of the period XX

Ending inventory (XX)

Sales units’ XXX

3.SalesRevenue  lagal) 3) )

Sales revenue calculate by this equation

Sales revenue = Sales Units * Sales price

4. Production Cost g 44l

The production units of the period must know and the production of the last
year also, if it is important.

Total production cost = production units * total cost per unit
or

Production units * direct material per unit = XX

Production units * direct labor per unit = XX

Production units * variable F.O.H per unit = XX

Production units * fixed F.O.Hper unit = XX

Total production cost X XX

5. Total cost per unit ~ 4dlaa¥)3as gl Bas l) 481

Total costper unit is all costfor the productin the period as:
Direct material XX

Direct labor XX
Variable F.O.H XX
Fixed F.O.H XX
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Total costper unit X XX

6. Inventories Valuation <3l auls

A. Beginning inventory: 8l Jg (955

Beginning inventory, the units not sale in the last year must evaluation with the
total cost of the last year. As:

Beginning inventory cost= Beginning inventory units * total cost per unit for
last year.

B. Ending inventory Baall Al Ggiaa

Ending inventory the units not sale in the end of this year (assume it is from the
production of this year)

Must valuation with the total cost of this year:

Ending inventory cost= Ending inventory units * total costper unit for this
year.

7. Total marking costs  4allaa¥) (33 geuil) <

Total marking costs, the costrelated with sales calculate as:

Total marking costs = Variable marking costs + Fixed marking costs.

Note: Variable marking costs = Sales units * Variable marking costs per unit.

8. Total Costof Goods Sold  4flea¥) delual) Aoliay) AdiS

When you added total cost of unit sold (manufacturing) to the total market cost
you reach total costof goods sold.

Total Costof goods sold = total costof unit sold (manufacturing) + total
marketing cost.

Note: Total costof unit sold (manufacturing) = Total costof production +
Total costbeginning inventory - Total costof ending inventory.

9. Gross Profit g Jaa
Gross profit is the difference between total costof goods sold costand sales
revenue:

Gross profit = sales revenue - total costof goods sold

10. Net Profit A la

It is the result after deduct the managerial costfrom Gross profit.
Net Profit = Gross profit - Managerial cost.

Example 1: The costaccountant of Ahmad Company has established the
following data for the year 2005.
1- Sales price per unit250 I.D.

2- Operating units for year
Production 500000 units
Beginning inventory 20000 units
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Ending inventory 40000 units
3- Production for the last year 90% of this year.

4- These data about the cost has available. (1.D)

Direct material $50
Direct labor $40
Variable Factory overhead $35
Variable Marketing cost $10
Fixed Factory overhead $ 1750000
Fixed Marketing cost $ 750000

Administrative cost $ 500000

Calculate

1- Sales revenue

2- Total costof production
3- Total costof inventories
4- Total marketing cost

5- Total costof goods sold
6- Gross profit

7- Net Profit

Solution
1- Sales Revenue = Sales Units * Sales Price
= 480000 * 250 = 120000000
(1.D)
Note: Sales units Calculate as:
Beginning inventory 20000

Production 500000

Ending inventory (40000)

Sales Units 480000

2- Total costof production year 2005:

Direct material 50 * 500000 = 25000000
Direct labor 40 * 500000 = 20000000
Variable Factory overhead 35 * 500000 = 17500000
Fixed Factory overhead = 1750000
Total costof production = 64250000
Or

50 + 40 + 35 = 125 Variable costper units.
(125 * 500000) = 62500000 (1.D) Variable costof production
62500000 + 1750000 = 64250000 (I.D) Total costof production
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3- Total costof inventory:
A- Total costof beginning inventory = beginning inventory units* Total cost
per units (last year).
= 20000 * 128.889 = 2577780 (1.D).
Note: Total costof per unit year 2004:
Fixed F.O.H = 1750000 = 3.889 (1.D).

Production of the last year 450000

3.889 + 50 + 40 + 35 = 128.889 (1.D).

B- Total costof Ending inventory = Ending inventory units * Total costof
per units (this year).
= 40000 * 128.5 = 5140000 (1.D).
Note: Total costof per unit year 2005:
Fixed F.O.H = 1750000 = 3.5(1.D).

Production of this year 500000
3.5+50 +40 + 35 =128.5 (I.D).
4- Total Marketing Cost= Variable Marketing Cost+ Fixed Marketing Cost.
= (10*480000) + 750000 = 5550000 (I.D).
5- Total costof goods sold = total cost of unit sales (manufacturing) + Total
marketing cost.
61687780 + 5550000 = 67237780 (I.D).
Note: Total costof unit sales (manufacturing) = Total costof production +
Total costof beginning inventory - Total costof Ending inventory.
= 64250000 + 2577780 — 5140000 = 61687780 (1.D).
6- Gross profit = Sales Revenue - Total costof good sales.
= 120000000 — 67237780 = 52762220 (1.D).
7- Net Profit = Gross profit — managerial cost.
52762220 — 500000 = 52262220 (1.D).
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Week 18: Financial statement in absorption costing method.

Income Statement under Absorption Costing
Income Statement is a report explains all activities of the company for the
period from 1-1/31-12 the result of the Statement must be net profit or net loss.

The form of the Statement as below:

Income Statement of (X) company For the period from 1-1/31- 12

Sales Revenue

Cost of goods sold

Direct material

Direct labor

Variable F.O.H

Fixed F.O.H

Total costof production

Total costof beginning inventory
Total costof unit available for sale
Total costof ending inventory
Total costof unit sold (manufacturing)
Total marketing cost

Total costof goods sold

Gross profit

Managerial cost

Net Profit

XX
XX
XX
XX

s KB X%

XX

Example:- Prepare income statement from the information in ex: 1 using

absorption costing.
Solution

Income statement for Ahmad Company 1-1/ 31-12/ 2005

Sales Revenue

Total cost of goods sold

Direct material

Direct labor

Variable F.O.H

Fixed F.O.H

Total cost of production

Total costof beginning inventory
Total costof unit available for sale
Total costof ending inventory
Total costof unit sold (manufacturing)
Total marketing cost

Total costof goods sold

Gross profit

Managerial cost

Net Profit

25000000
20000000
17500000
1750000

64250000
2577780
66827780
(5140000)
61687780
5550000

120000000

(67237780)
52762220

(500000)
52262220
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Week 19: Variable costing Theory , procedures & comments .

Variable Costing Theory
Baiall calisal) 4y yas

Variable costing makes a distinction between product costs and period costs.
Product costs consistonly of prime costs for direct material and direct labor
plus variable factory overhead. These are the costs assigned to inventories
(work in process and finished goods) and costof goods sold. Fixed factory
overhead is included with other period fixed expenses, such as marketing and
administration expenses.

A0 V) CaSl (pe T peiiall CalSS ) oS50 5yl ol g i) CallSs (a6 ppiiall A4S o
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2. Units of Sales and Production:- The same in absorption costing.
3. Sales revenue:- The same in absorption.
4. Production Cost:- The production units of the period must be known and
the production of the last year also, if it is important.
Variable costof production calculates as:
Variable production cost=production units * Variable costper units.
Or:

Production units * Direct material per units = XX
Production units * Direct labor per units = XX
Production units * Variable F.O.H per units = XX
Variable production cost XXX

5. Variable cost per unit

Variable costper unit is the costfor productin the period as:

Direct material XX

Direct labor XX

Variable F.O.H XX

Variable costperunit  xxx

6. Inventories Valuation

A- Beginning inventory: Beginning inventory, the units not sale in the last
period must evaluation with the variable costof the last period as:
Beginning inventory cost = Beginning inventory units* Variable costper
unit for the last period.

B- Ending inventory:- Ending inventory the units not sale in the end of this
period (assume it is from the production of this period) must valuation with the
variable costs ofthis period.

Ending inventory cost= Ending inventory units * VVariable cost per units
for this period.
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Note: Variable costper unit is satiable from period to period.

7. Variable Marketing Cost

Variable marketing cost, the costrelated with sales calculates as:

Variable marketing cost = sales units * Variable marketing cost per unit.
8. Variable Costof Goods Sold

When you added variable costof unit sold (manufacturing) to the variable
marketing cost, you can reach variable costof goods sold.

Variable costof goods sold = Variable cost of unit sold (manufacturing) +
Variable marketing cost.

Note: Variable costof unit sold (manufacturing) = variable cost of
production + variable costof beginning inventory - variable costof ending
inventory.

9. Contribution Margin :- Contribution Margin is the different between
variable costof goods sold and sales revenue.

Contribution Margin = Sales revenue - Variable costof goods sold.

10. Net Profit:- It is the result after deduct all fixed costs (factory overhead,
marketing and administration) from Contribution Margin.

Example 2:- The costaccountant of (Y) Company has established the
following data for the year 2001
1- Operating units for the year:

Beginning inventory 40000
Production 250000
Ending inventory 20000

2- Production for the last year was 200000 units.
3- These data about the cost has available:

Direct material 10
Direct labor 15
Variable F.O.H 10
Fixed F.O.H 5
5Variable marketing cost

Fixed marketing cost 750000
Administrative cost 500000
4- Sales price per unit is 80 (1.D)
Calculate

1-Sales revenue

2- Variable costof production.
3- Variable costof inventories.
4- Variable marketing cost.

5- Variable costof goods sold.
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6- Contribution margin.
7- Net Profit.

Solution

1- Sales Revenue = Sales Units * Sales Price
= 270000 * 80 = 21600000 (1.D).

Note: Sales units Calculate as:

Beginning inventory 40000

Production 250000

Ending inventory (20000)

Sales Units 270000

2- Variable costof production

Direct material 10 *250000 = 2500000
Direct labor 15 *250000 = 3750000
Variable F.O.H 10 *250000 = 2500000
Variable costof production 8750000
or:

(10+ 15 + 10) * 250000 = 8750000 (1.D).

3- Variable costof inventories:

A- Variable costof beginning inventory = Beginning inventory units *
Variable cost per unit.

40000 * 35 =1400000 (1.D).

B- Variable costofending inventory = Ending inventory units * Variable cost
per unit.

20000 * 35 =700000 (1.D).

4- Variable marketing cost

Variable marketing cost= Sales units * Variable marketing cost.
270000 * 5 =1350000 (1.D).

5- Variable costof goods sold = Variable costof unit sold (manufacturing) +
Variable marketing cost.

9450000 + 1350000 = 10800000 (I.D).

Note:

Variable costof unit sold (manufacturing) = Variable costof production +
Variable costof beginning inventory - Variable costof ending inventory.
= 8750000 + 1400000 — 700000 = 9450000 (1.D).

6- Contribution margin cost.

Contribution Margin = Sales revenue - Variable costof goods sold.
21600000 — 10800000 = 10800000 (1.D).

7- Net Profit
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Net Profit = Contribution Margin — all fixed costs (F.O.H+ Marketing cost +
Administrative cost).
10800000 — (1250000 + 750000 + 500000) = 8300000 (I.D).
Note :- Fixed F.O.H per unit calculated as:
Fixed F.O.H perunit = fixed F.O.H
Production
X = 1250000 (1.D).= 5 (I.D)
250000

Week 20: Financial statement invariable costing method.

Income Statementunder Variable Costing

Income Statement is a report explains all activities of the company for the
period from 1-1/31-12 the result of this Statement must be net profit or net loss.
The form of this Statement as below:

Income Statement of (x) company for the period 1-1/31-12 200x

Data

Sales Revenue XXX

Variable costof goods sold

Direct material

Direct labor

RIR|%

Variable F.O.H

Variable costof production XX

Variable costof beginning inventory XX

Variable costof unit available for sale XXX

Variable costof ending inventory (xx)

Variable costof unit sold manufacturing XX

Variable marketing cost XX

Variable costof goodssold (Xxx)

Contribution Margin XX

Fixed costs

F.O.H

Marketing

IR |X

Administrative

Total fixed costs (Xxx)

Net profit XX

Example 3:- Prepare income statement from the information in ex.2 using
variable costing.
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Solution
Income Statement of (Y) company for the period 1-1/31-12 2001

Data

Sales Revenue 21600000

Variable costof goods sold

Direct material 2500000

Direct labor 3750000

Variable F.O.H 2500000

Variable costof production 8750000

Variable costof beginning inventory 14000000

Variable costof unit available for sale 10150000

Variable costof ending inventory (700000)

Variable costof unit sold 9450000
manufacturing

Variable marketing cost 1350000

Variable costof goods sold (10800000)

Contribution Margin 10800000

Fixed costs

F.O.H 1250000

Marketing 750000

Administrative 500000

Total fixed costs (2500000)

Net profit 8300000

Week 21: Comparing with total & variable costing theories and their effects on profits..

Absorption costing and variable costing are methods used in accounting to
value companies’ work in progress and inventory. Absorption costing includes
all the costs associated with manufacturing a product. Variable costing
includes the costs directly incurred in production and none of the fixed costs.
Absorption costing is required for reporting purposes under the Financial
Accounting Standards Board’s Generally Accepted Accounting Principles
GAAP).

Absorption versus variable costing will only be a factor for companies that
expense costs of goods sold (COGS) on their income statements. Any
company can use both methods for various reasons but public companies are
required to use absorption costing due to their GAAP accounting obligations.
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« Absorption costing includes all the direct costs associated with
manufacturing a product.

. Variable costing can exclude some direct fixed costs.

« Absorption costing entails allocating fixed overhead costs to all units
produced for an accounting period.

« Variable costing includes all the variable direct costsin COGS but it
excludes direct, fixed overhead costs.

« Variable costing can provide a clearer picture of per-unit costand
inventory value because it excludes the fixed overhead cost.

Example A:- The Cup Company produced 10000 units of the product during
April and May of 2002. During this period, 8000 of these units were sold at
150 (1.D) per unit. The following represent the operations of these two months:
Direct material 20 per unit

Direct labor 10 per unit

Fixed overhead 60% of total factory overhead

For the two- month period, total expenses were as follows: (1.D)

Heat 20000

Light 20000
Fuel 20000
Depreciation 30000
Maintenance 15000
Rent 50000
Insurance 15000
Indirect labor 20000
Repairs 25000
Taxes 25000

Marketing and administrative expense 35000, 15000

Prepare income statement using: (1) absorption costing (2) variable costing.
Solution

1- Total factory overhead

Heat 20000
Light 20000

Fuel 20000
Depreciation 30000
Maintenance 15000
Rent 50000
Insurance 15000
Indirect labor 20000
Repairs 25000
Taxes 25000

Total 240000
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Fixed F.O.H = 240000 * 60% = 144000 (1.D).
Variable F.O.H= 240000 * 40% = 96000 (I.D).
2- Sales Revenue = 8000 * 150 = 1200000

3- Fixed costper unit = 540000 =54

4- Total costend Inv. = 2000 * 54 = 108000 (1.D).
5- Variable costend Inv. = 2000 * 39.6 = 79200

Income Statement of (CAP) Company

For the period of April and May 2002 Absorption costing

Data

Sales Revenue

1200000

costof goods sold

Direct material 20*10000

200000

Direct labor 10*10000

100000

Variable F.O.H

96000

Fixed F.O.H

144000

Total costof production

540000

Total costof beginning inventory

0

Total costof unit available for sale

540000

Total costof ending inventory

(108000)

Total costof unit sold manufacturing

432000

Total marketing cost

35000

Total costof good sold

467000

Gross profit

733000

Administrative cost

(15000)

Net profit

718000

Income Statement of (YY) company

for the period April and May 2002 variable costing

Data

Sales Revenue

1200000

costof goods sold

Direct material

200000

Direct labor

100000

Variable F.O.H

96000

Variable costof production

396000

Variable costof beginning
inventory

0

Variable costof unit a variable for
sale

396000

Variable costof ending inventory

(79200)
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Variable costof unit sold 316800
Variable marketing cost 0
Variable costof goods sold (316800)
Contribution Margin 883200
Fixed costs
Factory overhead 144000
Marketing 35000
Administrative 15000
(194000)
Net profit 689200
Example B-: The costdata for Noor Corporation are as shown below:
2001 2000
Sales (units) 125000 95000
Selling price 60 50
Beginning inventory 15000 10000
Ending inventory 10000 15000
Production 120000 100000
Direct material 10 10
Direct labor 15 15
Variable F.O.H 5 5
Fixed F.O.H 2 2.4
Market (70% variable) 30000 20000
Administrative expenses 20000 10000

Required:-

1- prepare an income statement for 2001 using absorption costing.
2- prepare an income statement for 2001 using variable costing.
3- prepare an income statement for 2000 using variable costing.

Solution (1)

1-Total costof production:(10+15+5+2) * 120000 = 3840000 (I.D).

2-Total costof beginning inventory
(10+15+5+2.4) * 15000 = 486000 (I1.D).
3- Total costof ending inventory
(10+15+5+2) * 10000 = 320000 (I.D).
4-variable market cost
30000*70%= 21000 (1.D).
5-Fixed marketing cost
30000*30% = 9000 (I.D).
6-Sales Revenue
125000*60 = 7500000 (1.D).

7- Variable costper unit
(10+15+5) =30 (1.D).
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8- Variable costof beginning inventory= 30*15000 = 450000 (1.D). Income

Statement for Noor Corporation

For year 2001 Absorption costing

Data

Sales Revenue

7500000

Costof goods sold

Direct material

1200000

Direct labor

1800000

Variable F.O.H

600000

Fixed F.O.H

24000

Total costof production

3840000

Total costof beginning inventory

486000

Total costof unit available for sale

4326000

Total cost of ending inventory

(320000)

Total costof unit sold (manufacturing)

4006000

Total marketing cost

30000

Total costof goods sold

4036000

Gross profit

3464000

Administrative cost

(20000)

Net profit

3444000

Solution (2)

Income Statement for Noor Corporation

For year 2001 variable costing

Data

Sales Revenue

7500000

costof goods sold

Direct material 1200000
Direct labor 1800000
Variable F.O.H 600000
Variable costof production 3600000
Variable costof beginning inventory 450000
Variable costof unit available for sale 4050000
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Variable costof ending inventory

(300000)

Variable costof unit sold 3750000
(manufacturing)
Variable marketing cost 21000

Variable costof goods sold (37710000)
Contribution Margin 3729000
Fixed costs
Factory overhead 240000
Marketing 9000
Administrative 20000 269000
Net profit 3460000

Solution: (3)

Year 2000

Sales Revenue = 95000 * 50 = 4750000 (I.D).

Variable costper unit = 10+15+5 = 30 (1.D).

Variable costof production = 30*100000 = 3000000 (I.D).

Variable costof beginning inventory = 30*10000 = 300000(1.D).

Variable costof ending inventory = 30*15000 = 450000 (I.D).

Variable market cost= 20000 * 70% = 14000 (1.D).

Fixed marketing cost= 20000 * 30% = 6000 (I.D).

Total fixed factory overhead =100000 *2.4 = 240000 (1.D).

Income Statement for Noor Corporation
For year 2000 Variable costing

Data

Sales Revenue 4750000

costof goods sold

Direct material 1000000

Direct labor 1500000

Variable F.O.H 500000

Variable costof production 3000000

Variable costof beginning inventory 300000

Variable costof unit available for sale 3300000

Variable costof ending inventory (450000)

Variable costof unit sold 2850000

(manufacturing)

Variable marketing cost 14000

Variable costof goods sold (2864000)

Contribution Margin 1886000

Fixed costs

Factory overhead 240000

Marketing 6000
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Administrative 10000 (256000)

Net profit 1630000

Exercises

Exercise 1:- Income Statement: Variable Costing vs. absorption costing.
The following data summarized the operations for the Ruff Skin Company for
the current year.

Sales, 40 units @ $100 ........................ $4,000
Production costs, 60 units

Direct material 60 @ $20 ........................ 1200
Direct labor, 60 @ $10 ........................ 600
Variable factory overhead, 60@ $6............ 360
Fixed factory overhead, 60@ $4................ 240
Marketing expenses

Variable, 40 @ $5 ..o 200
Fixed, 40@ @F3......covvemmmeeeiiiiinnnnnn.. 120

Administration expenses 150

Required :Prepare income statement using :
a. absorption costing
b. variable costing

Exercise 2:- Inventory Cost- Variable vs. Absorption Costing.

As part of its investigation regarding the possible adoption of variable costing,
the management of the Anderson Company asks the controller what effect the
adoption of such procedures would have on inventories. In developing the
answer to this question the following figures, representing operations for the
past year, are used:

Units produced—50,000, of which 15,000 were not sold

Direct material ....................... $160,000
Direct labor ........ccooveeiiii L. 200,000
Factory overhead:

Fixed expenses ................. 75,000
Variable expenses.............. 150,000
Required:

(1) the costto be assigned the 15,000 units in inventory using Absorption
costing.
2) the costto be assigned the 15,000 units in inventory using Variable costing.
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Exercise 3: -Income Statement — full vs. Variable Costing.
The Fleming Corporation produced 24,000 units of productduring the first
quarter of 19-. 20,000 were sold @ $20 per unit. Cost of this production was:

Direct Material ..................... $60,000
Direct labor ........ccooveiiiiii... 60,000
Factory overhead:

Variable costs .........cccoeeeiiii.l 120,000
Fixed coSt..oovvvneeeiei i, 96,000

Marketing and administration expenses for the quarter total $50,000; all are
fixed expense evenly distributed .
Required:

(1)  Anincome statement using full costing.

(2)  Anincome statement using variable costing.

Exercise 4:- Absorption vs. Variable Costing. Income Statement.

The following data pertain to the operations of the McCoy Manufactory

Company for the year 2019:

Sales in units: 75,000

Finished goods inventory, January 1,19A: 12,000 units

Finished goods inventory, December 31, 19A: 17,000 units

Units sales price : $10

Manufactory costs:

Variable costs per production: $4

Fixed factory overhead: $160,000

Marketing and administrative expenses:

Variable costs per unit of sales: $1

Fixed marketing and administrative expenses: $150,000

Required:
1) Anincome statement for 19A under absorption cost concept.
2) Anincome statement for 19A under the variable concept.
3) Anaccounting for the difference in profit under the two

concepts.

81




Week 22: Job order costing system, job order cards the document circle

Job order costing

In job order industries , production work is done against
order From customers each job work need special treatment
and can be clearly distinguished from other jobs . for
examples of job Order industries are printing press |,
construction of building , Bridges roads , ship building .
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Obiectives of job

The following are costing the main objectives of job costing
1-Cost of each job is ascertained separately . this helps in Findin® .
out the profit or loss on each job

2- It enables management to detect those job which are more

Profitable and those which are unprofitable .
3-1t provides a basis for determining the cost of similar
jobs under taken in future.
4-1t helps management in controlling cost , be comparing
the Actual cost with the estimated cost .
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Job costing procedureialiyl .l g3 &gl ja)
The following steps ate taken in jobs costing.
1-job number . Y a8,
2-Production order. byl Yl
3-Job cost sheet. LY Y148 )
Job cost sheet

Customer job No _
Date commencement date of completion___
Material cost Labor cost factory over head

Date

Material | Amount |Date |Hours Rot |Amount [dep [hours |Rat |5,
I.D 1.D ant

Total

cost of job order

1-Direct cost : it means
a-Direct materials b- Direct wages

2-Indirect cost : it means

a- Indirect materials b-Indirect wages c-Indirect expenses.
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The direct cost and indirect cost in all cost centers are total.
When the jobs are completed , the cost is transferred to cost of
sales account . the total cost of jobs completed during each
period is set against the sales to determine the profit or loss for the
period.
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The Journal entries :

The Journal entries for direct material, direct labor and factory
overhead are given below
A-  direct material :

Work in progress control ~ ***
Cash or debtors il
To record purchase of material

B- Material witch received from store room

Work in progress control — ***

Stores control Fkx

C - Material sends back to storeroom :
Stores control Fhx
Work in progress control =~ ***

D - Direct labor :
Work in progress control ~ ***

Wages control falaie
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E- factory overhead -

Factory overhead control ~ ***

in direct material falaiel
indirect labor falaied
indirect expense falekal
F- To record applied overhead to job order :
Work in progress Hhx
Factory overhead applied Fhxk

G- overhead variance -
Variance = Actual factory overhead _ predetermined overhead

Positive variance :

Factory overhead control ~ ***
Variance factory overhead falaie

Negative variance :
Variance factory overhead ek
Factory overhead control Fkk

Example 1:

From the following in formation prepare job cost sheet
Particulars job No 1 job No2 Amount
Direct materials 2000 1000 3000
Direct wages 1500 2250 3750
Machine hour 500 750

The overhead loaded by I.D .2 for machine hour.

Solution
Job cost sheet
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Particulars Job No 1 |Job No 2 Amount LD
Direct material (2000 1000 3000
Direct wages |1500 2250 3750

Prime cost 3500 3250 6750
Supposed over {1000 1500 2500

head

Supposed cost {4500 4750 9250

Example 2
From the following information prepare job cost sheet for the year
ended 2015
Particulars job No 1 jobNo 2 jobNo Amoun
Direct materials 3000 1500 4500 9000
Direct wages 2500 3000 5500 11000
Machine hour 1250 1750 2000
Solution
The overhead cost loaded by LD 2 for machine hour
Job cost sheet
Particulars JobNo 1 [JobNo 2 |JobNo3 |Amount
Direct materials 3000 1500 4500 9000
Direct wages 2500 3000 5500 11000
Prime cost 5500 4500 10000 20000
Supposed overhead {2500 3500 4000 10000
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Supposed cost 8000 8000 14000 30000

Example 3
From the following in formation prepare job cost sheet for the year

ended 2007

Particular jobNol job No?2 job No 3 amount

Direct materials 2000 1000 3000 6000
The overhead cost laded by 150% from direct materials
Solusion

Direct materials 2000 1000 3000 6000
Direct wages 1500 2000 4000 7500
Prime cost 3500 3000 7000 13500
Supposed overhead 3000 1500 4500 9000

Supposed cost 6500 4500 11500 22500
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Week 23: Factory owerhead , rules of estimation and allocation ower the production orders , allocate rate
for the center level and order lewel.

Application of manufacturing overhead:

Manufacturing overhead is applied to production by multiplying actual direct
labor or machine hours worked during the year and predetermined overhead
rate computed at the beginning of the year. Itis shown as follows:

) Estimated manufacturing overhead cost
Predetermined overhead rate =

Estimated total units in the allocation base

Example:- The following data for the month of March(1), the first in March
was up ( 1) under operation at a costof $ 2,000 direct materials 3000$ wages
directly (2)during the month of March began operating on the order and at all
costs during the month of March as follows:

Itisl1 | 2
Direct materials $4000 $ 5000
Wages directly $ 8000 $ 6000

The wage rate at $2/hour and the rate of loading additional costs of $ 3/hour
Factory overhead include ( 40 % Electric expense, 50 % insurance of machine
, 10% rent of plant)

Required:- 1- preparation costfor cardsis 1 and 2 is for the month of March?
2- record journal entries, If you know that actual F .O.H were 21000 and the
order save been their finished and taken to warehouses.

Solation - work costcard 1
Date Materials wages Factory overhead

Balance 2000 3000 -
During the month 4000 8000 12000
Total 6000 11000 12000

$ 8000 / $h2=4000 hour

4000 hour *$ h 3 =$ 12000 factory overhead

CostSummary

Materials 6000

Wages 11000

Factory overhead 12000

Total

29000
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work costcard 2

Date Materials wages Factory overhead
During the 5000 6000 9000
month
Total 5000 6000 9000

$6000 / $ h 2 =3000 hour
3000 hour * $ h 3 =$ 9000 factory overhead

CostSummary
Materials 5000
Wages 6000
Factory overhead 9000
Total 20000

2/ record journal entries.
1- Using materials of production

Work in process (1) 4000
Work in process (2) 5000

Materials control 9000
2- substantiation of wages

Wages & salaries control 14000
Accrued Wages & salaries 14000

3- Upload wages

Work in process (1) 8000
Work in process (2) 6000
Wages & salaries control 14000
4- _Substantiation <Y 0f F.O.H
Electric expense 8400
insurance of machine 10500
rent of plant 2100
accrued expenses 21000

Actual F.o.H control 21000

Electric expense 8400
insurance of machine 10500
rent of plant 2100

5- Upload factory overhead
Work in process (1) 12000
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Work in process (2) 9000
Estimated F. 0. H control 21000
6- Finished goods control 49000
Work in process (1) 29000
Work in process (2) 20000

Exercises

Exercese.1/ The Cambridge Company uses job order costing. At the beginning
of the May, two jobs were in process:
Job 369 Job372

Materials $2,000 $700
Direct labor 1,000 300
Applied factory overhead 1,500 450

There was no inventory of finished goods on Mayl. During the month,
Jobs 373, 374, 375, 376, 378, and 379 were started.
Materials requisitions for May totaled $13,000, direct labor cost, $10,000,
and actual factory overhead, $16,000. Factory overhead is applied at a rate
of 150% of direct labor cost. The only job still in process at the end of May
is No. 379, with costs of $1,400 for materials and $900 for direct labor. Job
376, the only finished job on hand at the end of May, has a total cost of
$2,000.
Required:
1. T accounts for work in process, finished goods, costofgoods sold,
factory overhead control, and applied factory overhead.
2. General journal entries to record:
a. Costof goods manufactured
b. Costof goods sold
c. Closing of over or under applied factory overhead to cost of goods
sold
Ex.2/ Beaver, in com. provided the following data for January, 2013:
Materials and supplies:

Inventory, January 1, 2013 $10,000
Purchases on account 30,000
Labor:

Accrued, January 1, 2013 3,000
Paid during January (ignore payroll taxes) 25,000
Factory overhead costs:

Supplies (issued from materials) 1,500
Indirect labor 3,500
Depreciation 1,000
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Other factory overhead costs (all from outside suppliers on

account) 14,500
Work in process:

Jobl Job2 Job3 Total
Work in process January 1,
2013 $1,000 -- -- $ 1,000
Job costs during January:
Direct materials 4,000 $6,000 $5,000 15,000
Direct labor 5,000 8,000 7,000 20,000
Applied factory overhead 5,000 8,000 7,000 20,000

Job 1 started in December, 2012, finished during January, and sold to a
customer for $21,000 cash
Job 2 started in January, not yet finished.

Job 3 started in January, finished duringJanuary, and now in the finished
goods inventory awaiting customer's disposition Finished goods
inventory January 1,2013.

Required:- Journal entries, with detail for the respective job orders and factory
overhead subsidiary records, to record the following transactions for the
January:

1. Purchase of materials on account.

2. Labor paid.

3. Labor costdistribution.

4. Materials issued.

5. Depreciation for the month.

6. Acquisition of other overhead costs on credit.

7. Overhead applied to production.
8. Jobs completed and transferred to finished goods.
9. Sales revenue.
10.Costof goods sold.

Ex.3/ Hegel Company is a manufacturing firm that uses job order costing
system. On January 1, 2013 the beginning of its fiscal year, the company's
inventory balances were as follows:-

Raw materials $20,000
Work in process $15,000
Finished Goods $30,000

The company applies overhead costto jobs on the basis of machine-hours
worked. For the current year, the company estimated that it would work 75,000
machine-hours and incur $450,000 in manufacturing overhead cost. The
following transactions were recorded for the year

1. Raw materials were purchased on account, $410,000.
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2. Raw materials were requisitioned for use in production, $380,000
($360,000 direct materials and $20,000 indirect materials).

3. The following costs were incurred for employee services: direct labor,
$75,000; indirect labor, $110,000; sales commission, $90,000; and
administrative salaries, $20,000.

Sales travel costs were $17,000.
Utility costs in the factory were $43,000.
Advertising costs were $180,000.

N oo g &

Depreciation was recorded for the year, 350,000 (80% relates to factory
operations, and 20% relates to selling and administrative activities).

8. Insurance expired during the year, $10,000 (70% relates to factory
operations, and 30% relates to selling and administrative activities).

9. Manufacturing overhead was applied to production. Due to greater than
expected demand for its products, the company worked 80,000 machine-
hours during the year(actual).

10.Goods costing $9,00,000 to manufacture according to their job cost
sheets were completed during the year.

11.Goods were sold on account to customers during the year at a total
selling price of $1,500,000. The goods cost $870,000 to manufacture
according to their job costsheets.

Required:
1. Prepare journal entries to record the preceding transactions.

2. Postthe entries in (1) above to T-accounts (don't forget to enter the
beginning balances in the inventory accounts).

3. Is manufacturing overhead under applied or over applied for the year?
Prepare journal entry to close any balance in the manufacturing overhead
account to cost of goods sold (COGS). Do not allocate the balance
between ending inventories and costof goods sold (COGS).

4. Prepare an income statement for the year.

Ex.4/-The Fine manufacturing company uses job order costing system. The
company uses machine hours to apply overhead costto jobs. At the beginning
of 2012, the company estimated that 150,000 machine hours would be worked
and $900,000 overhead costwould be incurred during 2012.
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The balances of raw materials, work in process (WIP), and finished goods at
the beginning of 2012 were as follows:

Raw materials ~ $ 40,000

Work in process 30,000

Finished goods 60,000

The Fine manufacturing company recorded the following transactions during

2012:

a. Raw materials purchased on account, $820,000.

b. Raw materials were requisitioned for use in production,
$760,000 ($720,000 direct materials and $40,000 indirect
materials).

c. Direct labor , $150,000; indirect labor, $220,000; sales

commission, $180,000; and administrative salaries, $400,000.

. Sales travel costs were $34,000.

. Utility costs incurred in the factory, $86,000.

Advertising expenses were $360,000.

. Depreciation for the year was $700,000 ($560,000 relates to
factory and $140,000 relates to selling and administrative
activities).

h. Insurance expired during the year, $20,000 ($14,000 relates to
factory operations and $6,000 relates to selling and
administrative activities).

I. Fine manufacturing company worked 160,000 machine hours.
Manufacturing overhead was applied to production.

j. Goods costing $1,800,000 were completed during the year.

K. The goods costing $1,740,000 were sold to customers for
$3,000,000.

Required: 1. Prepare journal entries, T-accounts and income statement from
the above information.
2.Prepare a journal entry to close the balance in manufacturing
overhead account (over or under applied manufacturing overhead) to
costof goods sold.

« —Hh o QO
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Week 24: Spoilage and rework .

Spoilage is that part of the final produce that does not adhere to the
specifications given by the client and is therefore not accepted by them.

Rework is that part of the final produce which has not been accepted by the
client because it does not meet the required specifications. However, those
specifications can be met by working on the item once again. Hence the name
rework.

The difference between rework and spoilage is that, rework will be reworked
onand sold at full price whereas spoilage is considered to be defective goods
and is discarded at throw away prices in the market.

Rework and spoilage are closely linked concepts. If firms have a high
percentage of rework, they will also have a lot of items in their spoilage.

Why Should We Focus On Rework And Spoilage?

Rework and spoilage are additional costfor the company. Since the company is
in the business to make a profit, this gets passed on to the customer in the form
of additional costs. This makes the company uncompetitive in comparison to
its competitors.

The company with the lowest amount of rework and spoilage costs will have
the least loss and hence they will be able to provide the best deal to the
customer. Reducing rework and spoilage is therefore strategic in nature and
must be paid careful attention to.

Job Costing and Rework

Job costing has created a system wherein rework and spoilage costs are
allocated to the respective job where the loss is supposed to have occurred.
This helps the company find out the types of jobs it is efficient and not efficient
in and therefore work on reducing costs:

Normal Rework- Specific Job: The first type of rework and spoilage =
costis the one that can be attributed to a specific job. The treatment in

this caseis simple. It is charged to the specific job account. However,
distinction must be made between normal and abnormal loss. Normal

loss occurs when production is efficient. If it goes beyond a certain level,

it becomes abnormal rework and spoilage which is treated differently.

Normal Rework- General: The second category is rework and spoilage =
costs that cannot be allocated to a specific job. These costs must

therefore be spread out amongst all the jobs that were performed in that
period. These costs therefore get added to non manufacturing overheads.
Abnormal Rework: Abnormal rework and spoilage costs which were -
over and above the estimation of the company are charged to a separate

loss account. This helps focus management attention on them
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Scrapand Job Order Costing

Scrapis the waste that arises while manufacturing goods. It may arise because
the unit being manufactured has been irreparably damaged during production.
Alternatively it can arise because too much direct material is being used for
production. In either case, it signifies that there are problems with the
manufacturing process that need to be addressed. If left unaddressed, these can
be the cause of major costs and reduce the profitability of the company.

Value May Not Be Immaterial:

Now, when the term scrap is used, the mind automatically conjures up images
of waste materials. The term scrap is associated with warehouse full of junk
that may not have much value for the company. Disposing them without
harming the environment is often supposedto be the only priority. But, this
may not always be the case.

In many cases, scrap may have significantvalue. This makes it necessary to
ensure that the job order costing system can account for scrap.

Added To Inventory:

Once the material is declared to be scrap, its value needs to be ascertained and
it is added back in the inventory of the organization. This inventory account is
usually the direct materials account of the relevant job.

In some cases, companies also tend to use scrap from one job as a part of direct
material for another job. This may be done directly or sometimes material may
have to be processed. For instance, metal scrap can be molted and reshaped and
it becomes as useful as a new piece of metal. Therefore it can be directly used
in the production process.

Job Costing and Scrap:

Here are the costing conventions that are related to the treatment of scrap in job
order costing. They have been mentioned in this article:

Scrap - Specific Job: No amount of scrap is considered to be normal. -
Therefore all the scrap that arises in the operations of a firm is

considered to be abnormal.

No distinction needs to be made between normal and abnormal like it is made
in the case of rework and spoilage. Hence if a scrap can be traced to a
particular job, its value is adjusted to the material inventory that has been used
for that particular job.

Scrap-— General: However, if scrap cannot be attributed to a specific -
job, it becomes a part of general overheads. This ensures that it gets
distributed amongst jobs in the proportion that is decided by the
allocation base. This distribution may be uneven and misleading.
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Week 25: Variance analysis,

Cost Variance in Job Order Costing

Costvariance in job order costing is a critical financial metric that measures

the difference between the expected costs and the actual costs incurred during

the production process. This variance is pivotal for businesses that rely on job

order costing, as it provides insights into the efficiency and effectiveness of

their cost control mechanisms. By analyzing costvariance, managers can

identify areas where the company is overspending or underspending, allowing

them to make informed decisions about resource allocation, budget

adjustments, and process improvements. The conceptof costvariance is not
only relevant from an accounting perspective but also from the standpoint of

project management, operational analysis, and strategic planning.

From the accounting perspective, costvariance helps in maintaining the
integrity of the budget and ensuring that each job is completed within its
financial constraints. For instance, if a manufacturing company expects to
spend $10,000 on raw materials for a job but ends up spending $12,000, the
costvariance would be $2,000 unfavorable. This signals the need for a review

of purchasing procedures or supplier negotiations.

From the project management viewpoint, understanding cost variance is

essential for keeping projects on track and within budget. It serves as an early

warning system for potential overruns, prompting project managers to take

corrective action. For example, if labor costs are higher than anticipated, a
project manager might need to reassess the workforce's productivity or

consider alternative work methods.
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From the operational analysis angle, cost variance can indicate inefficiencies
in the production process. It can highlight issues such as machine downtime,
wastage, or suboptimal use of resources, which can then be addressed

to improve overall operational performance.

Lastly, from a strategic planning perspective, analyzing costvariance over

time can inform long-term business strategies. It can help in identifying

trends, forecasting future costs, and setting realistic budgets for upcoming

projects.

To delve deeper into the intricacies of costvariance in job order costing, let's

consider the following points:

1. Budgetedvs. Actual Costs: At the heart of cost variance analysis is the

comparison between what was budgeted for a job and what the actual costs
turned out to be. This involves detailed tracking of direct materials, direct

labor, and manufacturing overheads.

2. variance Analysis technigues: There are several methods to analyze

variances, such as the use of standard costing systems, which set predetermined
costs for materials and labor, and the calculation of variances from these

standards.

3. Causes of Variances: It's crucial to understand the root causes of variances.

These can range from market price fluctuations and inefficient labor to

Inaccurate costestimations and unexpected operational hurdles.

4. Corrective Actions: Once variances are identified, the next step is to
Implement corrective actions. This might include renegotiating supplier

contracts, improving labor training, or revising the production schedule.
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5. Continuous Improvement: Costvariance analysis should be an ongoing

process, contributing to a culture of continuous improvement within the

organization. Regular reviews can help in fine-tuning processes and preventing

costoverruns in the future.

6. Reporting and Communication: Effective communication of cost

variance data to stakeholders is essential. clear and concise reports can aid in

decision-making and ensure transparency across departments.

7. Impact on Profitability: Ultimately, the management of costvariance has a

direct impact on the profitability of a company. Keeping variances in check
ensures that jobs are profitable and that the company's financial health is

maintained.

Example: Consider a custom furniture manufacturer that receives an order for
a bespoketable. The budgeted cost for materials is $500, and the labor costis
budgeted at $300, with an expected overhead of $200. If the actual costs come
in at $600 for materials, $250 for labor, and $300 for overheads, the cost
variances would be $100 unfavorable for materials, $50 favorable for labor,
and $100 unfavorable for overheads. Analyzing these variances would lead to a
better understanding of the discrepancies and help in making more accurate

estimates in the future.

navigating costvariance in job order costing is a multifaceted endeavor that
requires attention to detail, a proactive approachto problem-solving, and

a commitment to continuous improvement. By embracing these principles,
businesses can enhance their financial performance and maintain a competitive

edge in their respective industries.
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Week 26: Process costing system

Process costing system

Under a process costsystem, costs are accumulated according to each
department, costcenter or process. The average unit costfor a day, week or
year is obtained by dividing the department cost by the number of units (tons,
gallons, etc.) produced during the particular period.
Process costing, is probably the most widely used cost system , it represents, a
type of costing procedure for mass production industries producing
standard Products.
Industries using process costs are paper, steel, chemicals, textiles, oil
refining, flourmills, food manufacture, milk diary, sugar works .....etc
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Process costing procedure

The essential system in costing procedure are :
1-the factory is divided in to a number of process & an

account is maintained for each process.
2 - ®aslh process account debited with materials cost labor

Direct expenses & overheads allocated to the process.
3- the output of a process is transferred to next process &
becomes input for it.
4-the finished output of the last process is transferred to
the finished goods account .
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Accumulation of costs
In a process cost system procedures must be developed to:
1. Accumulate materials, labor and factory overhead by departments.
2. Determine the unit cost for each department.
3. Transfer costs from one department to the next.
4. Assign costs to work in process.
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Flow of units
The flow of units (in terms of quantity) through a process costsystemcan be
summarized by the following equation:

Units in process at beginning + units started in process or transferred in = units
transferred out + units completed and on hand + units still in process

When any four terms in the equation are known the missing component can be

computed from the equation. Note that all the components are not necessarily

present in each situation (i.e. there may not be units in process at the beginning
of the period or units completed and still on hand at the end of the period).
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The Journal entries :
A- To record the costto Process:

ProcessNO ( ) A/C Fxx
Stores control faleiel
Wages control faladed
Factory overhead control Fhx
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B -transferred Process A/C to another :
ProcessNO ( ) A/IC kel
ProcessNO ( ) A/IC falale
C- transferred the last Process A/C :
Stores control of finished good — ***

ProcessNO () A/C falakel
And :
Costof sales falaiel
Stores control of finished good — ***
And :
Sales Revenue falaiel
Costof sales falaiel

Example:- Assume that the Beckerman Company had 1,500 units in work in
process at the beginning of the month, put 5,000 units into process and had
1,000 units in work in process at the end of the month. All units completed
were transferred out to Department B. The number of units transferred is
computed as follows:

Flow units
Units in process at beginning 1500
Units started in process 5000
Units available 6,500
Units still in process 1,000
Units transferred to Department B .5,500
Out flow 6500

Equivalent Units of Production

Toallocate costs when inventories of partially finished goods are involved, all
units (beginning inventory, goods transferred, ending inventory) must be
expressed in terms of completed units. This is done by means of a common
denominator, known as equivalent units of production or equivalent
production.

Methods of Costing Work in Process
(1) Average costing

(2) FIFO Costing
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Week 27: Equivalent production in awerage costing method.
Average costing

under this method also known as weighted— average costing, the opening work
in process inventory costs are merged with the costs of the new period and a
new average costis obtained. Thus there is only one average costfor goods
completed.

Equivalent units under average costing may be computed as follows:-

Units completed (Transferred out plus still on hand) + [Ending work in process
X Degree of completion (%)]

This method is based on the assumption that all the beginning work in process
was started and completed during the current period.

Example:- The following data related to the activities of Department A during
the month of May:-

Beginning work in process 8,000 Units

(100% complete as materials 70% complete as to conversion costs)
Goods started in process 86,000

Units transferred to Dept. B 80,000

Units completed and on hand 4,000

Ending work in process 10,000

(100% complete as to materials 60% complete as to conversion costs)
Equivalent productionin Department A for the month, using average costing is
computed as follows:-

Materials Conversion costs
Units Completed
Transferred to Dept. B 80,000 80000
Completed and on hand 4,000 4,000
Ending inventory units, amount completed:-
Materials (100%) 10,000 e
Conversion costs (60%)  --------- 6,000
Equivalent production 94,000 90,000
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Week 28: Equivalent production in FIFO costing method.

FI1F0 Costing

Under this method, the opening work in process inventory costs are separated
from additional costs applied in the new period. Thus, there are two unit costs
for the period: (1) opening work in process units completed and (2) units
started and finished in the same period.

Under FIFO, the beginning work in process is assumed to be completed and
transferred first. The ending work in process is then assumed to be from the
goods put into production during the period. Thus, ending work in process is
calculated from current period unit costs accordingto degree of completion.
Equivalent units under F.1.F.O costing may be computed as follows:-

Units completed (Transferred out plus still on hand)

-Opening work in process (regardless of stage of completion)

+Amount needed to complete Beginning work in process

+Amount completed in Ending work in process.

Example:- Using the same data as in Example 2, we compute the equivalent
production for Department A under the FIFO method follows:-

Materials Conversion costs

Units completed
Transferred to Dept. B 80,000 80000
Completed and on hand 4,000 4000
Less: Beginning work in process (8,000) (8,000)
Started and completed this period 76,000 76000
Completion of Beginning Inventory units
Materials (0%) 0
Conwversion costs (30%) - 2,400

76,000 78,400

Ending Inventory units Completed

materials (100%) 10,000
Conversion costs (60%) : 6,000 .

86,000 84,400

Equivalent productionunder FIFO may also be computed by subtracting the
period of beginning work in process that was completed during the previous
month from equivalent production under average costing.

Materials Conversion Units

Equivalent productionaverage

Costing (From Example 2) 94,000 90,000
Less: Beginning work in process

(Portion completed Last month)

Materials (100%) (8,000)
Conversion Costs (70%) (5,600)
Equivalent productionF.I.F.O costing 86,000 84,400
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Week 29: production Report.

Costof production Report

The costof production report shows all costs chargeable to a department or
cost center for the period. Since its principal objective is the control of costs,
detailed data relating to total and unit costs must be provided. Typically, the
cost breakdown is made by costelements for each department (or costcenter).
This report is also a good source for summary journal entries at the end of the
month.

The costof production report generally contains four sections:

Quantities This section accounts for the physical flow of units into and out of
a department.

-Equivalent production This section shows the sum of:

(1) it's still in process restated in terms of completed units

(2) total units actually completed.

Costs to Account for This section accounts for the incurrent of costs that
-Were:

(1) in process atthe beginning of the period

(2) transferred in from previous departments

(3) added by the department.

-Costs Accounted for This section accounts for the disposition of costs
charged to the department. Were the costs:

(1) transferred out to another department or to finished goods.

(2) Completed and on hand.

(3) Still in process at end of the period.

It should be noted that the total of the costs to account for must equal the total
of the costs Accounted for
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Example:- The Vogel manufacturing corporation uses the first in first out
method of process costing. The following data relate to the operations of
Department A during the month of July 19X1.:

Production (in units)
Beginning work in process (100% complete as to materials:-

(2/3)% complete as to conversion costs) 1,500
Started in process 5,000
Transferred to Dept. B 5,500
Ending work in process (100% complete as to materials:-
60% complete as to conversion costs) 1,000

Costs in Beginning inventory

Materials $1,680
Labor 1,400
Overhead 1,120
Cost Added during the Month
Materials $10,000
Labor 8,500
Overhead 6,800

The July costof production Report for Department A is shown below:
The Vogel manufacturing corporation cost of production Report, Department A
F.1.F.O cost method for the month July 19X1

1) Quantities

Units in process at Beginning 1,500
(All materials; 2/3 conversion costs)

Units started in process 5,000
Total units to account for 6500

Units transferred to next Department 5,500
Units still in process

(All materials; 3/5 Labor and overhead) 1,000
Total units for accounted 6500

2) Equivalent production

Materials Conversion costs
Transferred to next department 5,500 5,500
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-Beginning inventory (total) 1,500 1500 .

4,000 4000
+Amount needed to complete
beginning inventory (1/3) 0 500 .
4,000 4,500
+Ending inventory 1,000 600 .
Equivalent production 5,000 5,100

3) Costs to Account for

Total Cost Unit Cost

Work in process, Beginning Balance $4,200

Costs Added during month

Materials $10,000 2,000(a)

Labor 8,500

1.667(b)

Factory overhead 6,800 1.33(c)
Total costs added $25,300 $5.000
Total costs to Account for $29,500

Computations Unit Costs

(a) Materials: $10,000/5,000 = $2,000
(b)Labor: $8,500/5,100 = $1.666
(c)Overhead: $6,800/5,100 =  $1.333

4) Costs Accounted for
Transferred to next Department
From Beginning Inventory (1500 Units)

Inventory Value $4,200
Labor added (1500 * 1.667 * 1/3) 833
Factory overhead Added (1500 * $1.333 *1/3) 667
Total cost, Beginning units $5,700

From current production;
Units started & completed (4000 units * $5.00) 20,000

Total cost(beg + started and completed) 25,700
Work in process, Ending (3/5 completed):

Materials (1000 * $2.00) 2,000

Processing costs (1000 * 3.00 * 3/5) 1,800 3,800
Total costs Accounted for 29,500

Example 5:- If the Vogel manufacturing had used the average costing method
instead of F.1.F.O, its costof production report for the month of July would
have appeared as shown below. The data are the same as in Example 4
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The Vogel manufacturing corporation cost of production Report Department A
Average costing method for the month of July 19X1.

1) Quantities

Units in process at Beginning
(all materials 2/3 conversion costs) 1,500

Units started in process 5,000
Total units to be account for 6.500

Units Transferred to next Department 5,500
Units still in process

(All materials 3/5 conversion costs) 1,000
Total units for accounted 6,500

2) Equivalent production:

Materials Conversions Costs
Transferred to next department 5,500 5,500
Ending work in process:
Material 100% 1,000
Conversion cost 60% 600
Equivalent production 6,500 6,100
3) Costto Account for: Total cost Unit Cost
Work in process, beg. inventory
Material 1680
Labor 1400
F.O.H 1120
Costadd during period: -
Material 10000 1.79692(a)
Labor 85000 1.62295(b)
F.O.H 6800 1.29836(c)
Total cost 29500

Computations

(@) Materials = (1680 + 10000) /6500 = 1.7962

(b) Labor = (1400 + 8500)/6100 = 1.62295
(c) F.O.H= (1120 + 6800 ) /6100 = 1.29836

4)Cost Account for:
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Costof units transferred to next department :

(5500 * 4.71823) 25950
Costof work in process, end. inventory
Material 1000* 1.7962 = 1797
Labor 60% * 1000*1.62295= 974
F.O.H 100% * 1000*1.29836= 779 3550
29500

Week 30: Treatment of spoiled units.
Spoiled units

Spoilage is the term used to describe units of output that do not meet the
quality standards or specifications required by customers or management.
Spoilage may occur at any stage of the production process, and it may be either
normal or abnormal. Normal spoilage is the unavoidable and expected loss of
units due to the nature of the process, materials, or equipment. It is considered
part of the cost of production and is usually allocated to the good units.
Abnormal spoilage is the excessive and unexpected loss of units due to errors,
accidents, or inefficiencies. It is considered a loss and is usually charged to a
separate account.

identify spoilage

The first step in accounting for spoilage is to identify and separate the spoiled
units from the good units. This can be done by inspecting the units at the end of
each process or department, or by using quality control techniques such as
sampling or testing. The number and cost of spoiled units should be recorded
and reported for each process or department. The cost of spoiled units can be
calculated by multiplying the number of spoiled units by the average costper
unit for each process or department.

accountfor normal spoilage

Normal spoilage is usually treated as a product costand is allocated to the good
units as part of the cost of production. This means that the costof normal
spoilage is included in the inventory value and the costof goods sold. There
are two methods of accounting for normal spoilage: the weighted-average
method and the FIFO method. The weighted-average method assigns the same
average costper unit to both the good units and the normal spoiled units. The
FIFO method assigns the current period's cost per unit to the good units and the
prior period's cost per unit to the normal spoiled units.
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accountfor abnormal spoilage

Abnormal spoilage is usually treated as a period costand is charged to a
separate account, such as Spoilage Expense or Loss from Abnormal Spoilage.
This means that the cost of abnormal spoilage is excluded from the inventory
value and the costof goods sold. The costof abnormal spoilage can be
calculated by multiplying the number of abnormal spoiled units by the average
cost per unit for each process or department. The costof abnormal spoilage
should be deducted from the total costof each process or department before
allocating the remaining costto the good units.

Report spoilage

Spoilage should be reported in the financial statements and the management
reports to provide information about the efficiency and quality of the
production process. The amount and cost of spoilage should be disclosed in the
notes to the financial statements, along with the method of accounting for
spoilage and the basis of allocation. The percentage and cost of spoilage should
be calculated and compared to the standards or benchmarks for each process or
department. The variance between the actual and the standard spoilage should
be analyzed and explained in the management reports, along with the
corrective actions taken or planned to reduce spoilage.

Exercises

Exercise(1): In 1/1/2008 , input unit to process 2 as 200 unit at $3 per unit
The elements of costadd to it for 1/1 — 31 /12 2008 as below :
direct material ~ $ 6000
direct labor $ 5400
Factory overhead $ 3400
Units transferred to process3 1500 unit
500 unit Ending work in process
(100% complete as to materials 60% complete as to labor & 40% complete as
to Factory overhead )
Prepare process 2 Account
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Exercise(2):
In 1/1/2020, input unit to process 3 as 5000 unit at $12 per unit

The elements of costadd to it for 1/1 — 31 /12/ 2020 as below :
direct material ~ $ 14250
direct labor $ 18680
Factory overhead $ 13770

Units transferred to Stores 4200 unit
400 unit Ending work in process

(100% complete as to materials 80% complete as to labor & 60% complete as

to Factory overhead )

Spoilage units 400 unit sold at$ 4800

Normal spoilage rate 5% for input units

Selling price $ 30 per unit

Prepare process 3 Account

Exercise(3):
In 1/1/2016 Beginning work in process (2) as 400 units with total cost$ 6400

($4400 direct material , $1200 direct labor, $800 Factory overhead )

(80% complete as to materials 60% complete as to labor & 50% complete as
to Factory overhead )

New units started in process at $12 per unit 500

Cost Added during the year :

$10700 Materials
$13890 Labor
$9020 Overhead

Units transferred to next process (3) 4400
Ending work in process 600 (100% complete as to materials 80% complete
as to labor & 60% complete as to Factory overhead )
Spoilage units 400 unit sold at$ 12 per unit
Normal spoilage rate 5% for input units

Prepare process 2 Account
A- using average costing B - under F.I.F.O costing
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